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Hindi+English

Section - A (Physics)
A parallel plate capacitor has a uniform electric

field ‘E’ in the space between the plates. If the
distance between the platesis ‘d’ and the area of
each plate is ‘A’, the energy stored in the capacitor
is : (€, = permittivity of free space)

1) e EAd
@ %EUE?’Ad

. EZAd
3) £
1 2
@ 3 2ok

The velocity of a small ball of mass M and density
d, when dropped in a container filled with glycerine
becomes constant after some time. If the density

of glycerine is d , then the viscous force acting on

the ball will be%

() Mg
3
(2) EME
(3) 2Mg
Mg
@ 3

The effective resistance of a parallel connection that
consists of four wires of equal length, equal area of
cross-section and same material is 0.25 (. What
will be the effective resistance if they are connected
in series 7

q 050
@ 14
@ 44

4 0250

A convex lens ‘A’ of focal length 20 cm and a concave
lens ‘B’ of focal length 5 em are kept along the
same axis with a distance ‘d’ between them. If a
parallel beam of light falling on ‘A’ leaves ‘B as a
parallel beam, then the distance ‘d’ in cm will be :

Q15
2 50
3) 30
4 25

If force [F], acceleration [A] and time [T] are
chosen as the fundamental physical quantities.
Find the dimensions of energy.

1)  [F][A][T?]

@ [F][A][T1]

@ [FI[AT1[T]

@  [FI[A][T]
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6. T - [ UG e o Y 90 o T $9
<o oA S A & | T — I T TR T
e foe v wfinfaa St § & == F@ 8l
TS - [ R - 11 ¥ T T gR o +if :

W -1 T -11
m
@ ST A ® 2

® Terpi wfaaera @ ney,

©) oia F ®R) % T
E
D) =TS & 3

L A-R), B)-G), C-Q), D)-E)
@ @W-®),B-E) C)-E) D)@
3 @W-®R), B)-Q), C)-(), D)-P)
@  @A-®),B-G), O-F) D)@

7. Tudasm o g gl g

C
| |
1
— —— -
1
C
1 2C
@ Cr
@  3C2
@ 3C

8  THFUFRM 't THIE § 90°C ¥ 80°C T <t Bl 5,
Tl THEL A 20°C B 1 IH F F 9Y W AHHE TG
& FY H FTH B 80°C T 60°C IF ST FH § T

T BT

R
@ ot
®
@ D

N5

Column - I gives certain physical terms associated
with flow of current through a metallic conductor.
Column - IT gives some mathematical relations
involving electrical quantities. Match
Column - I and Column - II with appropriate

relations.
Column -1 Column -11

m

(&)  Drift Velocity ) e A

(B)  Electrical Resistivaty @ neuyy

E
() Relaxation Period ®) E_T
. E
D)  Current Density (S) =

O AR, [B)-6),O)-@Q).D)-P)
@  @W-E®), B)-®), (C)-E), D)-(Q)
@)  @W-E&), B)-@Q), (O-(F), D)-FP)
@ AR, B-6)O-®),D)Q

The equivalent capacitance of the combination
shown in the figure 1s :

C
| |
[

— —C L
| |
[
C

a 20

@ 2

@ 302

@ 3C

A cup of coffee cools from 90°C to 80°C in t minutes,
when the room temperature is 20°C. The time
taken by a similar cup of coffee to cool from 80°C
to 60°C at a room temperature same at 20°C is :

13

Ot
® 1ot
® it
@ 1ot

T
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fosm 4 foiq =W F 09 = I FSQ HF H
STUEdAIE V3 B

— 60°

Q) 80

@) 45

(3)  90°

@  60°

T FHE el o TRl R Hag TN T &

t faeaaesre T eafag o 81 Ak a9

ST ‘m’ THM & BRIBAEEM i S-siell qiee
Ag E‘T, GIE

(1)

@)

(3)

4)

hd=[21;1c)h2
2me . o
— A

[ h }“
2h . o
— A

(e
2

1441 a
= Bl
[m]d

A

A
A

R, T R, 521 < < STaf¥m vl =ietes T aR 9

Sirg XU I 81 Tl & T58 STeR1 5wl (oy/ap)
STU BT 8

(1)

2)

(3)

@)

4

9.

10.

11.

Hindi+English

Find the value of the angle of emergence from the

prism. Refractive index of the glassis V3,

B 60°
1 30°
@) 45
@) 9
@ 8

An electromagnetic wave of wavelength } is
incident on a photosensitive surface of negligible
work function. If ‘m’ mass is of photoelectron
emitted from the surface has de-Broglie wavelength
Ay, then :

1)

)

()

4)

hd=[%}\2

2mc Y, o
A= —— A
[h]d

p
A= &]}ldz
\ IIC

{
\_hc

Two charged spherical conductors of radius R, and
R, are connected by a wire. Then the ratio of
surface charge densities of the spheres (¢,/0,) is :

D

)

3)

4)

sh
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13.

14.

15.

N5

An inductor of inductance L, a capacitor of
capacitance C and a resistor of resistance ‘R’ are
connected in series to an ac source of potential
difference ‘V’ volts as shown in figure.

Potential difference across L, C and R is 40 V,
10 V and 40 V, respectively. The amplitude of
current flowing through LCR series circuit is

102 A. The impedance of the circuit is ;
— TR | | AN ——

— 4O V—+— 10 V——4d0V—

(i)
N/
v
O 5420
@ 40
@ 50
@ a2 0

A dipole is placed in an electric field as shown. In
which direction will it move ?

% 4
— bt
B TP sy R
‘+ q =4 B
A
(1)  towards the right as its potential energy will
decrease.
(2)  towards the left as its potential energy will
decrease.
(3)  towardsthe right as its potential energy will
mncrease.
(4)  towards the left as its potential energy will
mncrease.

Consider the following statements (A) and (B)
and 1dentify the correct answer.

(A) A zener diode is connected in reverse bias,
when used as a voltage regulator.
(B) The potential barrier of p-n junction lies

between 0.1 Vto 0.3V.
(1)  (A) and (B) both are incorrect.
(2)  (A) is correct and (B) is incorrect.
(3)  (A) is incorrect but (B) 1s correct.
4) (A) and (B) both are correct.

A lens of large focal length and large aperture is
best suited as an objective of an astronomical
telescope since :

(1)  alarge aperture contributes to the quality
and visibility of the images.

(2) alarge area of the objective ensures better
light gathering power.

(3) alarge aperture provides a better resclution.

(4) all of the above.
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17,
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19.

20.

T faveamd sfug 9 1.5 dice faa e, =1 o 9
36 9. IR ¥ T W wHyfew fag & ¥ Al
2.5 dice T ana. ancll gadl Set vacl St oht et
F 8, 9 98 & fRw @R W Egfaa fag wra
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1) 21.6 9.4
(2) 64 H.HL
3 623
(4 60H.HL

Tt Tae | TAEE O v ¥ 1 HHE ST WA a
geaft & 391 3 =R A1 TR anel §ER UE % §ag |
AT 99 Bl §

(L 2v

(2) v

B 4v

@ v

T A% ‘n’ T W TG A G HAl § 1 gHRI
Teafast it =1 219 %

(1) 2n

(2) 3n

(3) 4n

4 n

T GRS 5@ T a1 & 0™ &l qo & fou ggea
e <t 8, o F=faiag sreais Sm

T T %1 uediE = o faeftiex

FE YA o USHF = 52 @

T o & Tor Ty Y W 1 faefivies, g Yam
% 100 @HI % TG W T STFT Fu = Yo &

A o1 =T &

(1) 0.026 H.HI.
2)  0.26 9.4
(3) 0.052 H.HI.
@  0.529T.

x-Taum § Haita ws Frae forga grarmnra o & forg
Freafafea S § | SiE a1 FwA: &g 89 (E)
9T [EEHE A7 (B) T el wevd fewmsdi =i yeidta
FEE?

FATINF AN M

D —j+k -k

FATRF Y M

@ 4k -j-k

AN MM
G) itk —jtk

Moo A A

@ itk itk

16.

17.

18,

19.

20,

Hindi+English

In a potentiometer circuit a cell of EMF 1.5V gives
balance point at 36 cm length of wire. If another

cell of EMF 2.5 V replaces the first cell, then at
what length of the wire, the balance point occurs ?

(1) 21.6cm
(2) 64cm
(3) ©62cm
4 60cm

The escape velocity from the Earth’s surface is v.
The escape velocity from the surface of another
planet having a radius, four times that of Earth
and same mass density is :

1 2v
@ 3v
3 4dv
4 v

A body 1s executing simple harmonic motion with
frequency ‘n’, the frequency of its potential energy
18 :

(1) 2n
2) 3n
(3) 4n
4 n

A screw gauge gives the following readings when
uged to measure the diameter of a wire

Main gcale reading : 0 mm
Circular scale reading : 52 divisions

Given that 1 mm on main scale corresponds to
100 divisionsg on the circular scale. The diameter
of the wire from the above datais:

(1) 0.026cm
(2) 0.26cm
(3) 0.052cm
(4) 0.562 cm

For a plane electromagnetic wave propagating in
x-direction, which one of the following combination
gives the correct possible directions for electric
field (E) and magnetic field (B) respectively ?

M MM
D —jt+k, —j-k
FASY FAN
@ 4k —j-k
MA FANY

@) itk —itk
M A A

@ 4R, j+k
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23.

24,

ﬁmnﬁmaﬁshmehﬂV=vﬂ sinwt § ‘C €T
1 T I 5= &

oI % Wel & == e awy 2
2 Yo

(L) Id_m cosot
Vo

(2) Id_m sinmt

@  I4=V,wCsinot

et 70 U9 ST 2 €

1 =i TR &= % suftem | & fgga sl o
FA ¥, A & FreyraT ¥ |

@  Sifgya Sl e au a3, ST R
&1 STl B 2

@ o wurh faggg foya sl 2 g1
(4 T fgya el v g B

TEA 600 THHER qURE arel yeRTe 9§ e i
AU SN WIRFI ol WA B 59 98 3.3 X 103
o It Iedfsid T § ¢
(h=6.6X10" 34T x H.)

O 107
(2)  10l6
(3) 1019
(49 1018

n-215Y 3TEfreTsh H e i wigaT 3a1 & & o
p-2EY SEARTF H FHEL H WE §1 T R 9=
ferera &1 opTen e €1 < H Urietl W 7Y
GRELEIELY

() p-<RYTER >n-<EIH GOH

(2) n-°RYH YA > p-TRYH YT H

@ p-<ET W WE 9 TEiiEd T8 S, e
n—a—.{qﬁ AR Yelfad 2t

(4) n-°eRYH UN=p-<FTH U

7

21.

22,

23.

24,

N5

A capacitor of capacitance ‘C’, is connected across
an ac source of voltage V, given by

The displacement current between the plates of
the capacitor, would then he given by :

Vo
li=— t
(1) d=— 008w
(2) Id=Esinmt
()

3 I;=V,eCsinwt
@ I;=VywCecosnt

Polar molecules are the molecules ;

(1) acquire a dipole moment only in the presence
of electric field due to displacement of
charges.

(2)  acquire a dipole moment only when magnetic
field is absent,

(3)  having a permanent electric dipole moment,

(4)  having zero dipole moment.

The number of photons per second on an average
emitted by the source of monochromatic light of
wavelength 600 nm, when 1t delivers the power of
3.3x 10~ 3 watt willbe : (h=6.6 X 10~ 34 Jg)

(1) 1017

(2 1018
3y 1015
(4) 1018

The electron concentration in an n-type
semiconductor is the same as hole concentration
in a p-type semiconductor. An external field
(electric) is applied across each of them, Compare
the currents in them,

(1)  current in p-type > current in n-type.
(2) currentin n-type >current in p-type.

(3)  Nocurrent will flow in p-type, current will
only flow in n-type.

(4)  currentin n-type = current in p-type.
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26.

27,

8

T T 10 A & 9 9 5 4. fa<i Tt g1 5=
2 T30, ZoomF o) 369 T Sl €, T e o
ST BT ®

(1) 6.289FTS
2) 8.144FvE
(8) 0.628 IS
@  0.0628 HFUS

TS 240 TSHAE 9&1 & A1V, T S0 S&
120 % % @Vl 4 22 ¥ erafed 9w wfed
FfwEt +1 a9 st wfa gfeaatz w9

7.6 TIECIFEA dee (MeV) 791 8.5 ARSI diee
(MeV) ¥ 1 WorH H el W S ol Bl & ¢

(1) 9.4 WA e
(2) 804 TEAFA A
(8) 216 TEAFRA AL
@ 0.9 AT dice

T - 1 T - 11§ gafaa sifse aen 9= ke

T3 oot o TEr FAfSA i By :
W - 1 W - 11
@) 9% s @ (P) %nmﬁz
= W A 3
B AR 9 W AR\ T (Q) %
© U S TRE S ®) %RT
O 19 FrEmm S (©) %kBT

el ST ol

1 A)- @, B)-®), () -G, D)-E®)
@  @A)-@,1B)-®),©O)-E), D) -ER)
3 @A-[R),B)-@Q,C)-P), D) -(S)
@ @A)-E®),B)-0),0-6),0-@

25.

26.

27.

Hindi+English

A gpring is stretched by 5 cm by a force 10N, The
time period of the oscillations when a mass of 2 kg
is suspended by it is

(1) 6.28s
2 3.14s
(3) 0.628s
(4)  0.0628s

A nucleus with mass number 240 breaks into two
fragments each of mass number 120, the binding
energy per nucleon of unfragmented nuclei is
7.6 MeV while that of fragments 1s 8.5 MeV. The
total gain in the Binding Energy in the processis

1)  9.4MeV
@ 804 MeV
@ 216MeV
@  09MeV

Match Column - I and Column - IT and choose
the correct match from the given choices,

Column -1 Column -11

1 "
(A) Rootmean square () 3 nmy?2
speed of gas molecules
(B) Pressure exerted Q) %
by ideal gas
— D
(C) Average kineticenergy (R) ERT
of a molecule
: 3
(D) Totalinternal energy  (S) 5 kpT

of 1 mole of a
diztomic gas

(1 A)-(Q,B)-R),(C)-(S),D)-(P)

@ W-@Q.B)-F).()-(5),D)-R)

@  @A-R),B)-@,C- @), D)-(B)

@) -®R),B)-EP)©O)-6B).D)-@Q)

T

collegedunia:s

India’s largest Student Review Platform



Hindi+English
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28,

mcri“lq:‘gmﬂ-:«i“lmff?c\i’[sn@r,ﬁrs T STIUE 2T © ;
n+1
2n—-1
@O oni1
2n+1
@  Zh-1
2n
-
n—1

TH HU YAl Fag W S i | fRen s g e
fAfyaa S W gt 1fqs ot 3e! feafast <t =t
T AT S S| T &T01 H Rt et TAE | e qe
O Y A Bl §

29.

S 3eS
o 558
S J/3eS
@ =, T
2 2
5 [3gS
©) 4°Y 2
5 3gS
& 4’ 2

30. U fedrafea aifas ‘%XE{H: farefea g #

"X 57 1B 730>z oD %A F W& 7 T
X o1 AT §EA ¥ %A U faufen wraa w01 E

SHHRD ¢

L o« Bt B
@ B pT
@ B, e BT
@ o p, B

9

28,

29.

30.

N5

A small block slides down on a smooth inclined
plane, starting from rest at time t=0. Let S be
the distance travelled by the block in the interval

=
t=n—1to t=n. Then, the ratio B s
Sn+1
2n-1
O on1
Zn—+1
@ 9n
2n
G 2p1
2n—-1
“@) o0

A particle i1s released from height S from the
surface of the Earth. At a certain height its kinetic
energy 1s three times its potential energy. The
height from the surface of earth and the speed of
the particle at that instant are respectively :

A radioactive nucleus *%X undergoes spontaneous
decay 1n the sequence

‘%X —7_ 1B —>g 3C -y oD, where Z is the

atomic number of element X. The possible decay
particles in the sequence are :

O e« p’ B
@ BT B
3 BT, o BT
@ o p, BT
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32.

TF ‘R’ T =1 AR R wfaa O O T sHeR
STYRY e W 99[ &1 4 faafa €1 Fiae & wrw
TR & B(r) T Yo hioel 1 9 ¢ T F

W'ﬂ?ﬁhmm%

O B kil

® B| /i A

) B q

@ B il

I E 991 G AWM Soll a1 Teeaswu vl i &l

uaﬁhaﬂﬁ%,ﬁr%ﬁﬁmé‘ﬁﬁ%:

O [MIL-YIT]
@  [M][LO] [T°]
@ [MZ[L-2][T]

@  [M2][L1[T0]
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31.

32.
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A thick current carrying cable of radius ‘R’ carries
current ‘I" uniformly distributed across its
cross-section. The variation of magnetic field B(x)
due to the cable with the distance v’ from the axis
of the cable iz represented by ;

1)

(2)

()

(4)

B

r —>
1
B

r —
1
B

p —>
1
B

r —>

If E and G respectively denote energy and

gravitational constant, then E has the dimensions

of :

(1)
)
3)
(4)

[M] [L=1] [T~ )
[M] [LO] [T]
[M2] [L-2] [T 1]

[M?] [L~1][T%]
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33.

34,

30.

femmu T T WEE % A 0 5 TR W o |

TEIfE Bl B = % GER UH SO
105 T4, = =0 H TG 1 &1 Uk &19 W a2
AT AAF o 19 T g 20 HAL §1 SH AN W
$ERM g SYE ffa ST a9t & 9iEm i

IO TSI |

Electron v=10% m/s

e

20 cm

P 15"1 Q
1)  Swx10~20=gEq
2 4w x 10~ 20=gET
(3) 8x10~ 27T
@  4x10~20=ge

T feamfed gaamss &t ardeyg 100 w2 ¥
150 S o 918 TR Afshaan s o= g7 fierees
9RT B

1
© 3%
2
@ 3
2
® 37
@ 12

TF 2WEET & 96H & fau 15 . =5 g
60 . S=mE 4 Ul fIRaT €1 ST & RO ORISR
et ==t & 10 wiava =t S S 81 TWEEAF TA

fepat wiferr Seo=T Y SR &2
(g=10T1./4.2)

(1) 8.1 TFcER

2 12.3fFamEr

(3) 7.0fFemEe

@  10.2fwemErE

11

33.

34,

35,

N5

An infinitely long straight conductor carries a
current of 5 A as shown, An electron is moving
with a speed of 10% m/s parallel to the conductor,
The perpendicular distance hetween the electron
and the conductor is 20 cm at an instant,
Calculate the magnitude of the force experienced
by the electron at that instant.

Electron v=10° m/s

L

20 em

!

P A Q
(1) 8wx1072N
(2) drx10720N
(3) 8x10"20N
(4 4x1020N

The half-life of a radioactive nuclide is 100 hours.
The fraction of original activity that will remain
after 150 hours would be :

1
O 3%
2
@ 3
2
(3) 372
@ 12

Water falls from a height of 60 m at the rate of
15 kg/s to operate a turbine. The losses due to
frictional force are 10% of the input energy. How

much power is generated by the turbine ?
(g =10 m/s?)

1) 8.1kW
@ 12.3kW
3 T.0kW

@  10.2kW
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36.

37,

12
U - B ( Hifeent )

M T a1 ‘R T & & 95 3o | 90°
e F 991G Tk 919 (3T°k) g fean s &1 1= g¢
B o T ] TSl STTU Beed o ohvg o oI A1l
AU Boxd & ql F T I & Hug ‘MR2 H K’
T ‘KHRAAE :

o g
®
®
@ 5

e 7 uitwy #, Tl festee famme fai A, B aan
C W ey 3 S § 1 T y W efa fmra s
BPT ?

A

C
O
ty by ta Aty tg

o | | [ ] b
——5YV
2 oV
(3) 5V
— 5V
® L oV

36.

37.

Hindi+English

Section - B (Physics)

From a circular ring of mass ‘M’ and radius ‘R’ an
arc corresponding to a 90° sector is removed. The
moment of inertia of the remaining part of the ring
ahout an axis passing through the centre of the
ring and perpendicular to the plane of the ring is
‘K’ times ‘MRZ. Then the value of ‘K is :

T
1) 3
1
(2) 1
1
3) 3
3
(4) 1

For the given circuit, the input digital signals are
applied at the terminals A, B and C. What would
be the output at the terminal v ?

t; ty tg ty ty tg

5

A

) —— : [ I—
3

0 e

] .

0

A

-

: —) >
B

&

C }

0—

4 t oty tg oty ty 1y
S R I I N N N R

—5hV
@ | o
(3) 5V
— 5V
(4) L ov
' collegedunias
OF s -
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38.

39,

40.

T 9ES Fi 27 9 ToF 220 T T ARG B
21 3 foere w21 5T R 8w 9T % fave
i IO TSI |

(1) 132092
@) 15209
(8) 198042
@) 6609w

TF 9t LCR ufmy H 5.0 T =1 I, 80 WEHI
HrE o Il 9T 40 379 F WROYE 230 SieE *
e sEfe % werad s 9@ 9 ¥ SR
HIvia eTgfa W wifsrk i omeft wiam wmrafa w3

A HA I HIA STt s
()  50dszTm/A., 25 Team/4.
(2) 46 WeTa/4., 54 Tea/49.
(3 42 dezm/4., 58 Fega/4.
@ 25 e=/4., 75 ea/4.

30 UL PET T F A 9 9 60 AW W W
s fag a5y sufeem 31 ok v woma v, g@&
3137 % TS a1 599 40 9., TN W@ s g,
i wfafera o S 4

A
o)

30 9.9 ¢=9 9, 9% Arafas wiarars gom |

1

30 W.4. FHq TUY W, I8 W grafa
BT |

20 W, THAE TV 9, T U At
BT |

20 9.HI. &9 W, I8 AR gidrss 2o |

2)

(3)

€Y

13

38.

39.

40.

N5

Twenty seven drops of same size are charged at
220V each. They combine to form a bigger drop.
Calculate the potential of the bigger drop.

1) 1320V
@ 1520V
(3 1980V
4 660V

A series LCR circuit containing 5.0 H inductor,
80 wF capacitor and 40 () resistor is connected to
230 V variable frequency ac source. The angular
frequencies of the source at which power
transferred to the circuit is half the power at the
resonant angular frequency are likely to be :

(1) 50rad/s and 25 rad/s
(2) 46rad/s and 54 rad/s
(3) 42rad/s and 58 rad/s
(4)  2brad/s and 75 rad/s

A point object is placed at a distance of 60 cm from
a convex lens of focal length 30 em. If a plane
mirror were put perpendicular to the principal axis
of the lens and at a distance of 40 cm from it, the
final image would be formed at a distance of :

N

+—60 cm——40 cm—>

P RN NN

(1) 30 cm from the lens, it would be a real
Image.

(2) 30 cm from the plane mirror, it would be a
virtual image.

(3) 20 cm from the plane mirror, it would be a
virtual image.

(4) 20 em from the lens, it would be a real

image.
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41,

42.

43.

T 71 TRUY % STTAR 1, v, T v, TAUHET =S
Tl Se T 2 | ufey ° ugea gfiiis & uei o

IR ?lsmaagma%:

14

41,

Hindi+English

Three resistors having resistances ry, ¥y and ry
are connected as shown in the given circuit. The

L

. I3 ) )
ratio = of currents in terms of resistances used

!

in the circuit is ;

0 s
® Tim
®  wim
@ im

R, 1 R, T3t =1 1 =ietehi™ g9 o9 U aot |
THeh = Wl 8 1A Ry> > R, O S 0ed TR
e ‘M T S E

R
1) R—f
@ =%
@ Z=F

@ R,

T 0.15 T =t g 10 /. 98 A R S &
AT STH H TR THA SO 9F Skl ¢ | e |
MY MY AT w1 9 g €, |9
(g =10 ¥1./4.2)

(1) 4.2 & xH./49.
@ 2.1fFm <A
@3 1.4fFm <@t/
@ ofEIm xH. /4.

42,

43.

1)

)

@)

G

L

Iy +1Ig

1
] +rg

Yo
Ty + r3

T
Ty + 1‘3

Two conducting circular loops of radii R, and R,,
are placed in the same plane with their centres
coinciding. If R;>>R,, the mutual inductance M
between them will be directly proportional to :

oy

2)

@)

)

A ball of mass 0.15 kg is dropped from a height
10 m, strikes the ground and rebounds to the same
height. The magnitude of impulge imparted to
the ball ig (g = 10 m/s2) nearly :

)
)
(3)
4)

4.2 kg mfs
2.1 kg m/s
1.4 kg m/s
0 kg m/s
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44,

45.

46.

TR thed
— (_:. %)
F=q\vxB
— A A A
=quX\{Bi+Bj+Bgk

; — A A A
Hoq=1T9 v =2i+4 j+6k

— M M M
F=di-20;+12k & AT
B WU SR 4 R 2

i it st

D _—gi-6j-8%

AN My P

@  8i+8j-6k

AN i Fal

B  6i+6j-8k

M A M

@ _8i-8;—6k

T 200 H.H, T8 791 500 WTH FHH Sl G4M 5
TF A9 & 40 QA From w dgfoa it ) ww
2 To6. 7. =1 ZoaWM B2 9 20 9.HL W Frafia fen
ST € q9T THY SI9 SN ‘m’ BT 9 160 WAL
Frem @ freifad forar STar & | 9 HITSTT ‘m’ K1 AF
o o |ger e H W/ (g=10 H./4.2)

0 20cm 40 cm 160 ¢m
AN
2 kg m
1
o = f&=m
3
2 2 fwm
@ g TR
3) L tmm
12 o
1
(4 5 ..

T FR TaraEe 9 YR 1 8 a9r 5 132 9§
T Bl €1 ¢ =4 YU WHR | &3 =fem g wk
g figgs! % wmR FREh Sl 81 ¢=6 9@ Wilg
T ST T TR0 T BT € 2 (FeWME ¢ g =10 HLAL)
() 20TLA., 0

@ 20/27HA, 0

@ 2042 WA, 10 HLA2
@) 20T.A., 5 HLA2

15

44,

45,

46.

N5
In the product
- (-} —>)
F=q\vxB
— at st Ay
=qux\Bi+Bj+Bgyk
- A A A
Forq=1land v=2i+4;+6k and
— A Al M

F=4;-20;+12%

_>
What will be the complete expressionfor B ?

M rat M

) _—gi-6j-8k

st ' '

2  8i+8j-6k

it LAt Eat

B 6i+6;-8k

rat rat Fat

@ _8i-8ji-6k

A uniform rod of length 200 cm and mass 500 g is
balanced on a wedge placed at 40 cm mark. A
mass of 2 kg is suspended from the rod at 20 cm
and another unknown mass ‘m’ is suspended from
the rod at 160 cm mark as shown in the figure,
Find the value of ‘m’ such that the rod is in
equilibrium. (g= 10 m/g?)

0 20cm 40 cm 160 cm
A
2 ke m
M 3ke
2) % kg
® ke
€Y % kg

A car starts from rest and accelerates at 5 m/s2.
At t=4 s, a ball is dropped out of a window by a
person sitting in the car. What is the velocity and
acceleration of the ballatt=6s?

(Take g =10 m/s%)

(1) 20m/s, 0

2) 202 m/s, 0

3 202 m/s, 10 m/s?
(4 20 m/s, 5 m/s?
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47,

48,

49,

90,

TS 12a TFME a1 YOy ‘R &1 90 SeRE dF,

@  ‘a’ YOU % HHETg fANE au

(i) ‘a’ W%%aﬁa; ST &l URIET HUSet |
Hrer

ST B
T FUSH! T rEehi Gya el e #
() 31Ia2 A1 Ia2

(2 3Ia2dA4Ia2

(3) 41a2 9 3 [a2

@) 3IaZ2qu31a?

T# U R SR & g9 8 T 9 9 A FA gL TH
TR T FA Y T 99T v 2|

ofs 75 s 4f9S 9 =5 =9 /w0 o W aGfiE
fHAT MY, 1 4R F TR SHTH SR A FHLT 2 |
T R0 ‘g oo S E

)

T STH=TAT ST ST 220 ST e Yeradt gid |
S[ETE, 11 Aiee, 44 92 o9 W FHE FEA1E | TFABER
T wifs g1 =1 7900 A g, TRt aiuy ° 9w
ER IR

(1) 0.4TEER

@ 2T

8 4T

4  0.2TEER

T& ‘m’ THEAF HT F0 Y& a8 § HHE 97
v=kV,(k < 1) ¥ wafima foran smm g |

(V,, = 9elrr 9m) .

F F R TAE & T W SATFTH S §

o
%)
1+k
R%k
1+k
Rk?

(1)

2)

(3)

(@)

16

47,

48.

49,

50,

Hindi+English

A uniform conducting wire of length 12a and
resistance ‘R’ is wound up as a current carrying
coll in the shape of,

@) an equilateral triangle of side ‘a’.

(i) asquareofside‘a’.

The magnetic dipole moments of the coil in each
case respectively are ;

(1)  3laZandIa?

() 3IlaZand4Ia?

(3) 4la?and3la?

(49) 31a2and 31a2

A particle moving in a circle of radius R with a
uniform gpeed takes a time T to complete one
revolution.

If this particle were projected with the same speed
at an angle ‘0’ to the horizontal, the maximum
height attained by it equals 4R. The angle of
projection, 8, is then given by :

1
1 §=cos ) (ﬂ\A
1) e
W A
! \]'
9)  f=sin 1 =R 2
@) pe
S, Wy
.
(o2 V2
3  O=sgin"!
(3) s \ﬂTERJ
2 VY%
4 0=cog ! {gTT]
7 R

A step down transformer connected to an ac mains
supply of 220 V is made to operate at 11V, 44 W
lamp. Ignoring power losses in the transformer,
what is the current in the primary circuit ?

) 04A
@ 2A
@ 4A
@ 02A

A particle of mass ‘m’ is projected with a velocity
v=kV_ (k <1) from the surface of the earth.
(V,=escape velocity)

The maximum height above the surface reached
by the particle is :

9
R ko
1+k

1)
Wk
@ 1ix
Rk
(3) 1_k2
2
k
@) R{EJ
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91,

52

53.

94,

55,

U - A (TG )
<9 GifiTer ! Ig=m il fE=gent 1firenden & e

FTEh I T S AR H i €
CH, ,, CH,
@0 CcHY SNy
CH,
@ cHy SN,
CH, CH,
3 CHY ““ler"' CH,
CH,
CH,
@ cHY WO,

=1 o=l =t s T

250 ml ST H 10 g 7B (CgHy ,0,,) Tl =T (Py),
250 ml S H 10 g A (CH,N,0) = ST (Py)
Tal 250 ml AT 10 g GohlH (C;oH 50, ;) Tl SR
(Py) | T Toreamii = TR STl % Sd hH H Wl
faFea g :

() P,>P,>P,
@ P,>P,>P,
® Py,>P,>P,
@ Py,>P,>P,

TS o U T SaTuf4ed Jue-a, Iefead, f=
H F o7 0 &7 Sedsi S 2

() ST (o)
(2) THI(y)

3 @)
4 SR=IE)

=1 & forw Tafy =i SwaivT o erafyss g aig =t
A TRd ST FN FAI RIS ?

(1)  Suicifigeht

2) A

(3) HSd IR
@) oy sTTer

BF, T 99qei T8 s = AR &1 =4
TRHTY] 1 GF Td 39k AR SR Sa2 A1l G
=%‘,%‘WT::

() sp’T6
@ sp?TWA6
3 sp?TA8
4 spiTUA4

17

51.

52,

53.

54,

55.

N5
Section - A (Chemistry)

Identify the compound that will react with Hinsherg's
reagent to give a solid which dissolves in alkali.

CH, CH,
1y CH NH

CH,
@ CHY NH

CH, CH,
@  cH “‘"~1TI"' “CH,

CH,

CH,

@ CHY  TSNo,

The following solutions were prepared by dissolving
10 g of glucose (CgH{,0¢) in 250 ml of water (Py),
10 g of urea (CH,N,0) in 250 m] of water (Py) and
10 g of sucrose (C;,H55,0:7) in 250 ml of
water (Pg). The right option for the decreasing
order of osmotic pressure of these solutions is :

(1) P;>P,>P,
@ Py>Py>Py
3 Py>P,>P,
4 P,>P,>P,

Tritium, a radioactive isotope of hydrogen, emits
which of the following particles ?

(1)  Alpha (@)
(2) Gamma (vy)
(3)  Neutron (n)
49 Beta(7)

Which one of the following methods can be used to
obtain highly pure metal which is liquid at room
temperature ?

(1) Chromatography
(2)  Distillation

(3)  Zomerefining

(4)  Electrolysis

BF; is planar and electron deficient compound.
Hybridization and number of electrons around the
central atom, respectively are :

(1) sp®and6
(2) spZandé
(3) spZand8
40 sp®and4
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56. Tt srfufean A—B & foau sifufsran =1 U=t | 56.  For a reaction A—B, enthalpy of reaction is

— 4.2 kJ mol ~ ! 7= G T TE 9.6 kd mol 1 —4.2 kJ mol~! and enthalpy of activation is
1 sfufew & fau o fufqs o=t s = 9.6 kJ mol ~ 1. The correct potential energy profile
farre 1 yeftla fem T for the reaction is shown in option.
A A
1 ! f\ PE /\
( ) PE A = (1) B

-
: 7 Reaction Progress
Reaction Progress g

{

A K
/L 1| /\
2) PE = 4 @) A 3
Reaction Progre:gs Reaction Progress
A A
@ T B I'IE /\B
B4 ) A
Reaction Progress Reaction Progregs
A A
@ PE /\ PE /\
Iy B @ i B
Reaction Progregs Reaction ngre;s

57. S Wl W TH STt qEEtie AfulEa % 9T | 57, Noble gases are hamed because of their inertness

SR & FHRIT EE | ST grafrd 9 YU Hi towards reactivity. Identify an incorrect
TgEM | statement about them.
1) PR I F ToHiE T sadqis o 3= B (1)  Noble gages have very high melting and
: boiling points.

g
@ g e A geer aRéaw ww 2R E (2)  Noble gases have weak digpersion forces.
Q) TFE 5 ¥ ToreRl afsd el =1 9F 5= (3) Noble gases have large positive values of

B lectron gain enthalpy.

T B ¢ | ©

@) T 3 w1 § e foeE ¥ (4)  Noble gases are sparingly soluble in water.
58, TR SRUHRER (EDTA) 317 g, 58. Ethylene diaminetetraacetate (EDTA)ionis:
iy (1) Unidentate ligand
@) 21N T W‘?’ﬁ ¥ oy f@@ T (2)  Bidentate ligand with two “N” donor atoms
- : . - (3) Tridentate ligand with three “N” donor

3 dFTN H@Twmaﬁ%maﬁ@m | o
) ?ﬂ?ﬁ 0" TH T “N” &RT Ea:ﬁ & T =g (4)  Hexadentate ligand with four “O0” and two

“N” donor atoms
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59.

60,

61.

62.

= vt aifafsren o ffitfe s diffe =
[UPAC M 1 & 7

() C,H MgBr, 7% &5

RS (i) H,0, H Ehe
(1)  UeA-2-30d

@)  YA-3-30d

@  2-Tfu =ge-2-3id

(4)  2-0fe grE-2-31a

= q1 e e T g

-

fefE v Yufgemie @ deril (AEies
THesitas) a7 & § |

T UT1I :

AR TS 38 FEIF NSBr (AH-"A1wifeH
THesitas) ot % §|

ST w1 o WIS | = feu gu fawedi | 9 wet
S |

(1) oF ®eT TS & I e E
@ w7 9E € AT AT I T B
3) YT T ¥ AT e I |l B
@) o wuT TE w1 EE

=1 srfuferensti o @ =9 ag fasemem sifufern €2
e forered < |

(1) Cry0q+2A1—2 5 AL O, +2Cr
@  Fe+2HCl—FeCly,+H,T
3  2Pb(NO,), — 2PbO +4NO, + 0, T
4  2KCI0,—2— 2KCl+30,
2,6-STEUTIA-Sh-4-37 1 T WA R
(1)

s

=

7

19

59.

60,

61.

62,

N5

What is the [IUPAC name of the organic compound
formed in the following chemical reaction ?

(i) CoHsMgBr, dry Ether

Acetone s Product
(i) Hy,0, °H*

(1)  pentan-2-ol

(2) pentan-3-ol

(3)  2-methyl butan-2-0l

(4)  2-methyl propan-2-ol

Given below are two statements :

Statement I :

Aspirin and Paracetamol belong to the class of
narcotic analgesics.

Statement I1 :
Morphine and Heroin are non-narcotic analgesics.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both Statement I and Statement II are
false.

(2) Statement I 1s correct but Statement 11
1s false.

3) Statement I 1is incorrect but
Statement I is true.

(4) Both Statement I and Statement II are

true.

Which of the following reactions is the metal
displacement reaction 7 Choose the right option.

(1) CryOp+2A1—2— ALO, +2Cr

@  Fe+2HCl— FeCl,+H,T

(8  2Pb(NO,),— 2P0 +4NO,+ 0,1
@  2KCI0,—2— 2KCl+ 30,

The correct gtructure of 2,6-Dimethyl-dec-4-ene
18 :

(1)
S
S
=
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63.

64.

65.

66.

67.

68.

69.

2-3im U= o formeg R sl «1 g
IIE U2-2-39 ¥ | 390 IR I mior smeniid g
2

(1) TEFEA®
@ BT M w
@) THd AW
(4) Heow e W

ST TARES & 3 951 U a9 STee o
=AW E

(1) <F A &
2) A foore uE Wi
(3) <TFH §Een

(4) A S v fger

aite gfean e, =5 foooll 1 U W% 1,368 kHz
(forell T351) = T W TARD Fq1 &1 T
(ZiwHeR) R Seafsia foga geeE fafem =
TOTCA & : [T HT A, ¢=3.0x 108 ms—1]

() 219.2m

2 2192m
3) 21.92cm
4) 219.3m

=1 ag@i O 9 B AT 9ga®A & g i
fopan e & 7

(1)  EEE-66

(2) A

(8) SHA

4) U

Hfoed gy T & 5 weita TR s 21 W@
fasrea g |

) TR faerm

(2) = e

@) e fae=m

4)  NaClfaeem

Fel 14 THR F STol STETehi i 310: ehi-d Uaheh hifSerat
n 5

2 2

B8 8

@ 7

= ° 9 =1 o fooey o o el i % fau
Cp WA Cy; o T Tel*l ol =HFd ol ¢ 7

(1) CP — CV =R
8 Cy=RCp

4 Cp+Cy=R

63.

64.

65.

66,

67.

68,

69.

Hindi+English

The major product formed in dehydrohalogenation
reaction of 2-Bromo pentane is Pent-2-ene. This
product formation is based on 7

(1) Hund’s Rule

(2) Hofmann Rule
(3)  Huckel's Rule
(4) Saytzeffs Rule

The structures of beryllium chloride in solid state
and vapour phase, are :

(1)  Linear in both

(2)  Dimer and Linear, respectively
(8)  Chain in both

(4)  Chain and dimer, respectively

A particular station of All India Radio, New Delhi,
broadcasts on a frequency of 1,368 kHz (kilohertz),
The wavelength of the electromagnetic radiation
emitted by the transmitter is : [speed of light,
c=3.0x10% msg—1]

(1) 2192m
(Z) 2192m
(3) 21.92cm
4) 2193m

Which one of the following polymers is prepared
by addition polymerisation ?

(1)  Nylon-66

(2)  Novolac

(3) Dacron

(4)  Teflon

The right option for the statement “Tyndall effect
is exhibited by”, is :

(1)  Glucose solution

(2)  Starch solution

(3)  Ureasolution

(4)  NaCl solution

The correct option for the number of body centred
unit cells in all 14 types of Bravais lattice unit
cellsis :

®H 5
2 2
@ 3
@ 7

Which one among the following is the correct option
for right relationship between Cp and Cy for one
mole of ideal gas ?

) Cp—Cy=R
@ Cy=RCp
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70.

71,

T2.

73.

74,

75.

TeTEEed YRfEa i el ANE ©

() CHGO

@ CHO

3 CH;O

@ CgHpy

U9F F T worl 9wy § fgaer i @
1 180°

@  60°

@

@  120°

Zr (Z=40) T8 Hf (Z="72) % WHIveesh Ug Ef-sh
ot Tm ¥ o FRm R

(1) o=l gy

@ WS S

3) S % et e wee g

@ = HE 8 % 9eE

‘C-X =Y ] 59 T F1 98 HH

()’  CHz—F>CHg—Cl>CHy—Br>CH, -1
2 CHy—F<CH;-Cl>CHy;—Br>CHy-1
3 CHz—Cl>CH;—F>CHy;—Br>CHy—1
4 CHy—F<CH;-Cl<CH;—Br<CH,-I

RBC &l &4, g-ar s T §

1) fo=ifEa B,
@ fafra B, =it
@ f=EAB, =
4 faafmAB,, ®
=1 T sfufrm d e sae
CHj, _
CH - CH=CH, + HBr (Le1500):0; 9
CH,”
CHj _
(1) “CH-CHy - CHy—~ 0~ COCgH;
CH,
CHj
2 _CH-CH-CHj
CH, |
Br
CHj _
(3) CBr—CH,—CH,4
CH,”
CHj
) _CH-CH,—CH,~-Br
CH,

70.

71.

72,

73.

74,

75.

N5
The compound which shows metamerism is ;
() CgHGO
2 C4HgO
@  CH,,0
4 CgHyo

Dihedral angle of least stable conformer of ethane
18 :

() 180°
2  60°
@
@  120°

Zr (Z.= 40) and Hf (Z = 72) have similar atomic and
ionic radii because of :

(1)  diagonal relationship

(2) lanthanoid contraction

(3)  having similar chemical properties
(4)  belonging to same group

The correct sequence of bond enthalpy of ‘C—X bond
18 :

()  CH,—F>CHy—Cl>CH,—Br>CH,y—1
(@ CHy—F<CH;—Cl>CH,—Br>CHy—1I
(3 CHz;-Cl>CHy—F>CH;—Br>CH,—1
4y CHy;—F<CHy-Cl<CHy—Br<CHy—1I

The RBC deficiency is deficiency disease of :
()  Vitamin Bg

(2) Vitamin B,

3) VitaminB,

(4)  Vitamin B,

The major product of the following chemical
reaction is ;

CH,
“CH-CH=CH,+HBr {C61:005,0; 9
CHz”
CH,
(1) JCH—CHE—CHE_O—COCEHE
CH,
CH,
V) CH-CH-CHj
CH, !
Br
CHy
() ~CBr—CH,—CHj,
CH,
CH,
4 _CH-CH,—-CH,-Br
CH,
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76.

7.

78,

79.

80.

HITl:

3T w2 T T AR Sed ©

HF << H(Cl << HBr << HI,

a1

S-S T § A= S WS F, Cl, Br, I 51 3THR
%1 ST § 99-oF HF, HCL, HBr Ud HI & &4 &l
T SIadT S ¥ | ST ST WY dgd S § |
UG FII ok TS H A= U gu foenedl | 9 wet
T |

(1) THHIT] TE HATII T |
@) HATITH T AfFT B I T B
(3) U I § Al e I WE B
@ T RITI TE HATII TS T

TN Wl B UTE o1 ST Heh ST STTeehad argE M
g

1) 2200KT®
2 1900KWH
(3 5000 KTH
@ 1200KTF
Geft-1 =1 e |=i-11 | 1 |
-1 TEr-11
@ PClg @ = faafae
b) SFg ()  Fremofi w9ac=
© BrFg (i) SRR
d BF, vy Freif fgfrata
12 feu T fasred | O w@ WA |
L (@)-G), (o)-Gid), (0)-(v), (d)-()
@  (@)-Gi), (b)-(), (©)-(iv), (d)-G)
B (@)-Gv), (b)-(idd), (¢)-(iD), (d)-(D)
@ (a)-Gv), (b)-(id), (c)-@), (d)-G1)

= il g o Ssel O ¥ SF eeds @

TR faeTeeR O e & 2

(1) EhiEy FTRES

@ W FREs

@) sRifaE FTREe

4) fceEm FAEE

fedsma e

(1) S e eReEEE e o3 eee o
LT B E

(2) AT S US TR & 3T =T e §

Q) UfArTe st afufranie aad E, fam
w9 9 5 o gau fofsm 8

@) TS SEHET H GO A U a § T
T o TS e 3T

22

76.

7.

8.

79.

30,

Hindi+English

Statement I :

Acid strength increases in the order given as
HF << HCI << HBr << HL.

Statement I1 :

As the size of the elements F, Cl, Br, [ increases
down the group, the bond strength of HF, HCI,
HBr and HI decreases and so the acid strength
Increases.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both Statement I and Statement II are
false.

(2) Statement I is correct but Statement 11
is false.

(3) Statement [ is incorrect but
Statement II is true.

(4) Both Statement I and Statement II are

true.

The maximum temperature that can be achieved
in blast furnace 1s :

(1) upto2200K
(2)  upto 1900 K
(3)  upto 5000 K
(4)  upto 1200 K
Match List - I with List - I1.
List-1 List-1I
(@  PCly (1) Square pyramidal
(b) SFg (@)  Trigonal planar
(0  BrFy (1) Octahedral
) BF, (iv) Trigonal bipyramidal

Choose the correct answer from the options given
below,

D) (@)-), (b)-(id), (¢)-(v), (d)-G)
2 @-@i), (b)-(), (¢)-Gv), (d)-(id)
@) @-(v), (o)-(d), (c)-(), (d)-@)
@ (@-v), (b)-(id), (0)-0), (d)-id)

Among the following alkaline earth metal halides,
one which ig covalent and soluble in organic
golventsis ;

(1)  Strontium chloride
(2) Magnesium chloride
(3)  Beryllium chloride
(4)  Calcium chloride

The incorrect statement among the following
18 :

(1) Most of the trivalent Lanthanoid ions are
colorless in the solid state.

(2) Lanthanoids are good conductors of heat and
electricity.

(3) Actinoids are highly reactive metals,
especially when finely divided,

(4)  Actinoid contraction is greater for element

to element than Lanthanoid contraction.
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81.

82,

Siget % 1| 1 a8 amera feaor g4 s fafie aml
R I F A vs. 3T ] TS0 =@ ;

T

(200 K, 400 K, 600 K)

(1)

(bar)

Pressure (P)

Volume (V) —»
(dm3)

Qﬁ&b‘&'
VI
/%
&

—

2)

(bar)

Pressure (P)

Volume (V) —
(dm3)

(3)

Pressure (P)
(bar)
S/S

e

Volume (V) —»
(dm?)

.

200 K

@ o0

(bar)

Pressure (P)

Volume (V) —»

(dm?)
TR SIThTVI TR ( SIS TaHiee ) Waheh hiltSa
T aquRaRd Ud TRwasE sl @ 9@ g
& o ¥

L 612
@ 21
@ 12,6
4 84

NaCl, HC1 U8 CH,COONa &1 3Td d3d1 W Hier
TR SFHT: 126.45, 426.16 T 91.0 S cm2 mol — 1
T THd T30 W CH,COOH i HieR =l ¢ |

()  390.71 S cm2 mol —1
(2) 698.28 S cm2 mol 1
(3)  540.48 S cm2 mol 1
(4 201.28 S emZmol 1

23

81.

82,

83.

N5

Choose the correct option for graphical
representation of Boyle's law, which shows a graph
of pressure vs. volume of a gas at different
temperatures ;

—

(200 K, 400 K, 600 K}

)

Pressure (P)
(har)

—_—

<0
P

%

2)

Pressure (P)
(bar)

@)

Pressure (P)
(bar)
SEk
B

Volume (V) —>
{dm3)

200 K

@) 00

Pressure (P)
(bar)

Volume (V) —»
(dm?)
Right option for the number of tetrahedral and

octahedral voids in hexagonal primitive unit cell
are '

O 6,12
2 21
(3) 12,6
@ 8.4

The molar conductance of NaCl, HC] and
CH4COONa at infinite dilution are 126.45, 426.16
and 91.0 8 cm? mol ! respectively. The molar
conductance of CH;COOH at infinite dilution is.
Choose the right option for your answer.

(1) 390.71 Sem?Zmol !
(2) 698.28 S em? mol~!
(3) 540.48 Sem?mol !
(4) 20128 SemZmol—1
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84,

86.

87.

88,

T (K) W SEAAATHA 1 pK, U THIfF 371 o
pK, A AW 3.27 TH 4.77 7| SRATUw@smi=m
THZ faaem & pH %1 T&t faheq ¥

1)  5.50

@ 7.75

@) 6.25

@ 850

TF FEF AR 5 78% (IR gR) FE- T4 I
TSI SEEISH = A= & | §9 AT % Jengar! 9
- e fareu & [T YR : C=12, H=1]

(1) CH,

@ CH,

3 CH,

4 CH

T - B ( TEEHI0E )
weit-1 1 et geir-11 | |
-1 Te-11
CO,HCl
(a) BT AICLy () SA-hiele-
CuCl Sl

(b) R— (”: —~CH, + (i) TREM-HE

NaQX — stiifea
(© R—-CH,-OH (iii) TR rfufsmen

+R'COOH

AR HpS0,
(d) R—CH,COOH (iv) T
() XofTA P
(i) HyO

= few e foered 4 € 9 SR A |
(L (@)-Gi), (b)-(1), (c)-@), (d)-G0v)
2 (@)-), b)-Gv), (c)-(id), (d)-(i1)
(3 (a)-(D), (b)-(iD), (c)-({v), (d)-()
@  (@)-v), (b)-G), (o)-(1), (d)-(iii)

T gkt § feer srey 9 ¥ ermravie
TR ¥ o we faweu 7

(1)  AU#0, AB,170

@  AU=0, AS ;70

(3) AU#0, AS, =0

@ AU=0,4A8,,.,=0

o Tu syuped ® @ wm s wER w2
) CH,0

@  SbClg

3 NO,

@ POCL

24

34,

35,

86.

&7.

88.

Hindi+English

The pKj, of dimethylamine and pK, of acetic acid
are 3.27 and 4.77 respectively at T (K). The correct
option for the pH of dimethylammonium acetate
solution is ;

() 5.50
@ 775
(B) 625
) 850

An organic compound contains 78% (by wt.) carbon
and remaining percentage of hydrogen. The right
option for the empirical formula of this compound
18 : [Atomic wt. of Cis 12, H is 1]

() CH,
@ CH,
(3 CH,
4 CH

Section - B (Chemistry)
Match List - T with List - IT.

List -1 List-11
(@) CO.HOL 47 HeloVilhord:
Anhyd.AICL./ Zelinsk :
CuCl elinsky reacfion
i
b)) R-C-CH;+ (1} Gattermann-Koch
NaQ¥X — reaction
(¢) R—CH,—-0OH (111) Haloform
+R'COOH reactlon
Conc, HESD,i_ "
(d) R-CH,COOH (iv) Esterification
(i) XyRedP _
i) Ho0

Choose the correct answer from the options given
below.

D (@-aw), (b)-@), (©)-Q), (d)-Gv)
@ (@)-0), b)-{v), (0)-(iid), (d)-(ii)
@) (@-@), (b)-(i), (¢)-iv), (d)-@)
9 @), ), (©)-(), (d)-(i)

For irreversible expansion of an ideal gas under
1sothermal conditfion, the correct option is;

(1) AU%0, AS,, ;%0
2 AU=0, AS, 20
3) AU%0, AS, =0
@ AU=0,A8,,,,=0

Which of the following molecules is non-polar in
nature ?

() CH,0
@  Shll,
@) NO,

@ POCI,
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89.

90.

91.

= o 9 Tor =z o, 37k T 9aTe T4 ToreH &%
3TER, 3foa %9 7@ g2

(1) Hy0<H,S : pK, A & 9gd 3A
< HySe < HyTe k|

2 NH;<PH, STRATS T8I0
< AsH, < SbH, TR FAH

B COy<8i0, SATSFETRTOT 87T
< SnQ, < PbO, TGd FHH

4 HF <HCI sTFeATs |Ae &
< HBr < HI HEd A H

gl werg =hife =t 21fferan < foau s e

[lnkvfs %J FIAFAN — 5% 103K §| sriafsran
 fICE, =1 9 8 | §8 ferheq T4 |
(e ™8 : R=8.314 JK~1mol ~ 1]

() 83.0kJmol!

(2) 166 kJ mol~!

(3) —83kJmol™!

(4 41.5kImol~!

weit-1 =1 fire geir-11 H |
geit-1 get-11

(@)  280,()+04y()— @ e
280,4(2)

® HOCK tv, i) AT
OH+CI

© CaCO,;+H,y80,— (iii)  STSIFT &
CaSO,+H,0+CO,

@ NO g _bv (iv) sl
NO{g)+ O{g) LS

o few e fasredi § 9 W ST |

L (a)-), (b)-Gis), ()-(v), (d)-(G)

@  (2)-Gv), b)), (©-@, (d)-G)

@ (@G, b)-G), (©-Gv), (-6

@ (@@, b)), (©-ii), (d)-Gv)

25

89.

90.

91.

N5

In which one of the following arrangements the
given sequence ig not strictly according to the
properties indicated against it ?

(1) Hy,0<H,S Increasing pK,
< HySe < HyTe values
(2) NHj;<PH,4 Increasing
< AsH, < SbH, acidic character
@ COy,<Bi0, Increasing
< 8n0, < PhO, oxidizing power
4y HF<HCI] Increasing acidic
< HBr < HI strength

1
The slope of Arrhenius Plot [111 k vis TJ of first

order reaction is —5x 10® K. The value of E,_ of
the reaction is. Choose the correct option for your
answer.

[GivenR=8.314 JK ~1mol 1]

(1) 83.0kJmol!
() 166 kJ mol !

(3) —83kJdmol1
(4 41.5kJmol?!

Match List - I with List - I1.

List-1 List-1I

(@ 250, +0,g—> (@ Acidrain
2504(g)

()  HOClg)__bv_, (1) Smog
OH+Cl

(¢ CaCOg+H,;80,— (iii} Ozone
Ca50,+H,0+CO, depletion

d) NOo(g) L (1iv) Tropospheric
NO(g)+ O(g) pollution

Choose the correct answer from the options given
below.

L (@-), (b)-(1), (¢)-av), (d)-0)
@ (@-av), (b)), (0)-0), (d)-(1)
@ (@@, (b)-(id), {)-Gv), (d)-@)
@ @-0, b)), ()-Gib), ()-Gv)
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N3

NaOH, + ?
™

92, CchHECOO-Na"'
Na,CO,.

U AR H STuleera STRHa T S 9gHH |
1) T RS

2y CaO

(3) DIBAL-H

@ B,H,

— CH,CH, +

0.007 M TwHifes It HT AT FATARA
20 S cm?2 mol ~ 1 ¥ wHifEF s = oo feei=
FE 7 Wl Ty 941

93.

A° =350 S cm? mol !
H

A ”
CHZC00

=508 cm® mol

() 2.50x10"4mol L1
(2)
(3)

4)

1.75%x10 " mol L.~ 1
2.50x 10" % mol L.~ 1
1.75%x10 4 mol L1
45°C R T Taem Toud sw=im Ta 23T =1 4R

ST 3 : 2 B, I A9 @ 5 T H Tel T
2

[45°C X o= & 9199 S 280 mm Hg TAT 3TTeRA
=T A TE 420 mm Hg §1 277=% 19 9]

(1)
2)
(3)
4

94,

168 mm Hg
336 mm Hg
3560 mm Hg
160 mm Hg

95. TOEHF sfufED + s o sifisds B &

NH, NGl

Br By Br Br
E ‘E ]’
Br Br

CH,CH,OH
HI
CuCN/KCN
H,0

Br Br
NalNG,, HCL
———.

0-5°C

Br
1)
(2)
(3)
(4)

26

2.

93.

04,

95.

Br

Hindi+English

NaOH, + ?
Heat

CH,CH,COO~Na*
Na,COs;.

Consider the above reaction and identify the
missing reagent/chemical.

> CH,CH, -+

(1)  Red Phosphorus
(2) CaO

(3) DIBAL-H

4 B,Hg4

The molar conductivity of 0.007 M acetic acid is
20 8 cm? mol~!. What is the dissociation
constant of acetic acid ? Choose the correct option.

A° L= 350 S em? mol !
H

Aﬂ
CH4C00™

=50 % cm? mol ™!

2.60x10~4 mol L~!
1.75% 1075 mol L.—1
2.50x 1075 mol L1
1.75% 1074 mol L.~}

D
2)
3)
(4)

The correct option for the value of vapour pressure
of a solution at 45°C with benzene to octane in
molar ratio 3: 218 ;

[At 45°C vapour pressure of benzene is
280 mm Hg and that of octane is 420 mm Hg.
Assume Ideal gas]

(I) 168 mm of Hg
(2) 336 mm of Hg
(3) 350 mm of Hg
(4) 160 mm of Hg

The reagent ‘R’ in the given sequence of chemical
reactionis:

NH, Ny C17
Br NaNO,, HCI Br Br _R,BE\Q/EW
0-5°C

Br Br Br
(1) CH,CH,0OH
(2) HI
(3) CuCN/KCN
@4 H,0
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Hindi+English
96. =1 v sifufsrn & fAfda s &
T ?
CH,-C-O0OCH,
NaBH, .
CH, CoH,0H
0
CH,—CHy—OH
(L
CH,
OH q
ey,
2 OH
CH,
OH
CH,-C—OCH,
(3)
CH,
OH H
CH t:3—00H3
4) OH
CH,4
97,

=1 Tt s & geredl s X |
0

Il
CH, C
cs,  H.O* ™~

CH(OCOCH,),

“‘*Cl

““H

CH(OCrOHCL,),

U
O”
Je
e

27

96.

97.

N5

The product formed in the following chemical
reaction is ;

O

7
CH,—C—-0OCH,
NaBH,
CH, C,H;OH
0
CH,—CH,—-OH
1)
CH,
OH H
[
CHy— ([3' —CH,
(2) OH
CH,
OH 0
i
CH,—C-0OCH,
@)
CHs
OH H
|
CH, - L;l - 0OCH
4) OH
CHs;

The intermediate compound ‘X’ in the following
chemical reaction is :

CH
; H,0+* \“H
+ Cr02012—> X

O : _CH(OCOCH,),
P
CH\\
@ @( a
_Cl
CH\\
-
@ CH(OCrOHCL,),

=
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98.

99.

100,

101.

102.

103.

weit-1 =1 fee geir-11 9 |

Helt-1 Het-11
(@ [Fe(CN)gJ3~ @ 5.92BM
b)  [Fe(0)g]** () O0BM
©  [Fe(CN)g|*~ (i) 4.90 BM
@ [FeH,0)2t  (v) 1.73BM
2 e T fomedl O W@ WA |
@D (@-@D), b)-v), ()-(iii), (d)-1)
@) (@-Q), b)), (©-0v), (d)-01)
(3)  (@)-Gv), (b)-(), ()-Gi), (d)-(ii1)
@  (a)-Gv), (b)-G), (©)-@), (@)-{id)
1 FRe sTadA § 0°C R U fagu f5ed 4 ¢ 0, T

2 g H, &t T8 B, 39 $ I (atm H) F T
famea I A |
[T T : R=0.082 L atm mol~ 1K~ 1, T=273 K]

1O 2.602

@  25.18

(3) 26.02

@ 2518

S & Frertataa 3 § § 39 U gt
T TE &2

(1) Na*t, Mg2+

(2) Mn2t, Fed+t

(3) Fe2t Mn2t

4 02—, F-

I - A (STafaam : FfafaRT )
TF G § SH9 i T97W HE & A HiE T I©Ey

TRAN SYERT H S ST 3 ?
(1) TALT

(2) 2, 4-%

@ SR

4) SRITY

fr=fafes § 9 =0 o T TF T9E BReel 9"
STTAFEE?

1)  SAERE TS

(2) SURETH

(8)  SATEIR fomem

(4) R =T

TR 3 YRR H wre fafir=T get o ergeRw #:% €

o1 Tafi= w1 weEmneti & faio & o fafis
am?gsﬁaﬂaawmaﬂﬁ%l T ST 1 1 FE
STl g ?

(1) =
(2) HE

(8) gRgaEar
(4) I

28
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99.

100.

101.

102,

103.

Hindi+English

Match List - I with List - I1,

List -1 List - IT
@ [Fe(CN)yJ3- @  5.92BM
b) [Fe,0)g]3* (i) OBM

©  [Fe(CN)g4~ Gii) 4.90BM
@ [Fe(,0)2*  Gv) 1.73BM

Choose the correct answer from the options given
below.

1) @-i), (b)-(v), (0)-(iid), {d)-@)
@  (@-0), b)-qid), (¢)-Gv), (d)-()
@) @-w), 0)-O), (©)-(), (d)-(ii)
(9 @-@v), (o)-(@), (0)-@), (d)-(ii)

Choose the correct option for the total pressure
(in atm.) in a mixture of 4 g O, and 2 g H, confined
in a fotal volume of one litre at 0°C is :

[Given R=10.082 L atm mol "1K~1 T=273 K]

QO 2602
@ 2518
(3)  26.02
@ 2518

From the following pairs of ions which one is not
an iso-electronic pair ?

(1) Nat, Mg2t
(2) Mn2t, Fedt
(3) Fe2t Mn2+
(4) 02—, F-

Section - A (Biology : Botany)

The plant hormone used to destrov weeds in a field
18 !

(1)' NAA

@  2,4D
3 IBA
4 IAA

The factor that leads to Founder effect in a
population is

(1)  Geneticrecombination
(2) Mutation

(3) Geneticdrift

(4) Natural selection

Plants follow different pathways in response to
environment or phases of life to form different
kinds of structures. This ability is called :

(1)  Flexibility
(2)  Plasticity
(3)  Maturity

(4)  Elasticity

T
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104.

105.

106,

107.

108,

109,

110.

111.

fEmt Jorer forad W S € 2
(n g

2) X

@ RIS AR

(4) TS

YRTSIRITCTdT & SITF 919l H WehTST 3 STeTH o1 T4
FHATE?

L

(2) T BTl

3

@) TRE

Frefafen 3 9, wiiems gaen el (e m.)
3 ST AT ShIF W1 HE STFAE?

()  TfsrgeRt, 99, gt
@ R, FfSee, arEier
()  arrgEier, Pt JEr
@  fftrgeRt, e, IR

frafafias § O it fawem =t ffm stawen |
TORLETeRg, o favTe B & ?

(1)  HeAERA - 11

@  TvEEe - 1

(8)  Iicaaeern - 11

(4) TSI - |

fiqsa STEedt H UH GIEH! STEis] YRy
Freferfaa o § i 91 g g2
(1) 7-FEhT IR S-HITHA
@  7-FTHE AR 7-FEE
@)  8-FTHY AR 8-HIEH
@)  8-FEHMA IR 7-HIHH

T H CO,, feadeon # vgern Tomdt Sourg = 2

(1) ST o
(2)  HeEIfTE I
(3)  TRIERIEEs 3
4  TEEloR 3T

frafafas 5 9 29, wru | fodos sa=ers @
872

(D T T, e
@ To=aeEs, s
(3 TR T

(4  HIFRH, FEE

frafafee o 9 fem Sore § 59 9= F ®9 o
e B § 7

(L TEERar
(2) ool

® T
@) TR

104,

105.

106.

107,

108.

109,

110.

111.

N5
Diadelphous stamens are found in :
(1) Citrus
(2) Pea

(3)  China rose and citrus
(4)  Chinarose

The site of perception of light in plants during
photoperiodism is ;

(1) Stem
(2) Axillary bud
3  Leaf

(4)  Shoot apex

Which of the following is a correct sequence of
steps in a PCR (Polymerase Chain Reaction) ?

(1) Denaturation, Extension, Annealing
(2) Extension, Denaturation, Annealing
(3) Annealing, Denaturation, Extension
(4y  Denaturation, Annealing, Extension

Which of the following stages of meiosis involves
divigion of centromere ?

(1) MetaphagelIl
(2) Anaphasell
(3) Telophasell
(4) Metaphasel

A typical angiosperm embryo sac at maturity is :
(1)  T-nucleate and 8-celled
2y T-nucleate and 7-celled
(3) 8-nucleate and 8-celled
(4)  8-nucleate and 7-celled

The first stable product of CO, fixation in sorghum
18
oy

(2)  Succinic acid

Oxaloacetic acid

(3)  Phosphoglyceric acid
4) Pyruvicacid

Which of the following are not gecondary
metabolites in plants ?

(1) Amino acids, glucose
(2) Vinblastin, curcumin
(3) Rubber, gums

(4)  Morphine, codeine

Which of the following algae contains mannitol as
reserve food material ?

(1) Gracilara
2y Volvox
B8) Ulothrix

(4)  Ectocarpus
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112,

113.

114.

115.

116.

Frefafas § § 57 |9 91 TAad £ 2

(1) g™, et iR Stgail i # el S €1

2)  UNChgE! STAHTE, Fh o ST Sufeera uget
IR wIfvErEe o Suftem yodl & o= @y
1 HM FL R

3) Few fog, Fuw R Fifvegs F o= 9Fi
el § WA SR SRTAT, SR 3 fam,
T Y ] iR FE

(4) 9RYFE =Tl Afee el H Us R S
I TR iSRRI 9T B €

S W W, vfafem gmms O e Siwnu

okl o o 9.4t fafeor & st S g @

A FH femd €7

(1)  IHehie! AR afgai

@ el e g

(8) THI Al afgE

CYRI I ER)

el - I gt - 11 % w9 gAfem wifsa )

Tt - 1 Tl - 11

(a) |[TTRY OIELES!

(b) [Tk hferem (i) [FaFE Fgam
(c) [T&diore aepe (ii1) [T =T STRFE-YTM
(d) [ (iv) [FT- 3T
1 3 T fosedl ° 9 W W g

@ ®» @©@

(1 @ @ @) @

2 @ G W @

@ @ @ @ G

@ @ © @ @
Frefeiaa 5 9 %9 9 Sore FOsiE 309 139 ¥ 2
()

2) o I

@ e-aia e

@ 3Ra e

hTa, SIS, B 37T Hicgmy SH U] @i
o1 H ar, Tt i 7@ v 6 &6 Wi =t Sl

g2
(1)
2)
(3)
)

=TH JHE
TR ST

TR
T ST
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Which of the following is an incorrect

statement ?

(1)  Microbodies are present both in plant and
animal cells.

(2) The perinuclear space forms a barrier
between the materials present inside the
nucleus and that of the cytoplasm.

(3)  Nuclear pores act as passages for proteing
and RNA molecules in both directions
between nucleus and cytoplasm.

(4) Mature sieve tube elements possess a

congpicuous nucleus and usual cytoplasmic
organelles.

DNA strands on a gel stained with ethidium
bromide when viewed under UV radiation, appear

as ;
(1) Brightorange bands

(2) Darkredbands

(3)  Bright blue bands

(4)  Yellow bands
Match List - I with List - I1.

List -1 List - I1

(a) |Lenticels (1) |Phellogen

(b) |Cork cambium [(11) |Suberin deposition

(¢) |Secondary cortex |(ii1) |Exchange of gases

(d) |Cork (1v) |Phelloderm

Choose the correct answer from the options given
below,

@ (b)) ©@ (@@

1 @ @ @ W

2 @ @) @ @

@ @ W @O @

@ @) @ @ @
Which of the following algae produce Carrageen ?
(1)  Brownalgae

(2)  Redalgae

(3)  Blue-green algae

(4)  Greenalgae

The amount of nutrients, such as carbon, nitrogen,
phosphorus and calcium present in the soil at any
given time, is referred as :

)
2)
@)
4)

Climax community
Standing state
Standing crop
Climax
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117. = - IS G=h - 11 & Wiy gafed it |
=it - 1 et - 11
(a) [Sagsa Serad @) [qutersar
(b) |912Y Sk Hayd (i1) [OEET
() |Afes oA (iid) [FATERA
(d) [emgerd= (iv) [fersi] gerd wicy
= 53 T faredi ° 9 W SR g
@ b © @
n @ @ @ @
2 @ v @ @)
3 v @ @ o
@ ) @ @ @
118. T fagr (I=a ) =1 0 o foe |
@ (bna 2, mrna 9, @)
(D) (2)- T, (b)- HITHTHT;
()21 ; (d)- TR
@) (a)-FIPIFT; (b)-SFTAGH;
(¢)-FUTERT; (d)-FH
(3)  (2)-TREHHT; (b)-T9=:
(c)-Tferep fenaT; (d)- TR
@) (a)-ITRRERT; (b)-STTAEH;
(c)-TTGRE; (d)-TM
119. b LA, e % fau g v |
virael 381 = Tae 9 98 fod easiog s g ?
(1) Eum
@ f=m
(3)
4  HRUAT,

120. ¥ 99 S & frefoder ok wfcefray S veR &
STSTT] SeTfed e & | TR IRl el 41 el S § 2
1) FEERE
@)  HESISIE
@ s
(4) THERH
121, <t Forrd O s # 2
(1) <REweEed
@) T FrRESEsE
@ P faa |
(4 HTEYH
122, Sl BRI oI H1 3cqed, TS F1 i ok

F, 3R F, Tedl ) Frefafea § @ fea fo g0

HHE ST AT & 7
(O "=

(2) T T

(8) AT

(4 g
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Match List - I with List - IT.
List - I List - II
(a) |Protoplast fusion (1) |Totipotency
(b) | Plant tissue culture | (i1) |Pomato
(c) [Meristem culture |(iil) [Somaclones
(d) | Micropropagation (v) | Virus free plants

Choose the correct answer from the options given
below.

(@ (b) (@ ()
O @ O Gv) @)
@ e w O
@ @ o @ o
@ @ & W O

Complete the flow chart on central dogma.

@ (dNa P, nrna 9 @

(1) (a)-Translation; (b)-Replication;
(c)-Transcription; (d)-Transduction

(2)  (a)-Replication; (b)-Transcription;
(c)-Translation; (d)-Protein

(3)  (a)-Transduction; (b)-Translation;
(c)-Replication; (d)-Protein

(4) (a)-Replication; (b)-Transcription;

(¢)-Transduction; (d)-Protein

During the purification process for recombinant
DNA technology, addition of chilled ethanol

precipitates out:

() DNA

(2)  Histones

(3)  Polysaccharides
(4) RNA

Genera like Selaginella and Salvinta produce two
kinds of spores. Such plants are known as :

(1) Heterosorus

(2) Homosporous

(3) Heterosporous

(4) Homosorus
Gemmae are presentin :
(1)  Pteridophytes

2y Some Gymnosperms
(3) Some Liverworts

(4)  Mosses

The production of gametes by the parents,
formation of zygotes, the F; and F, plants, can be
understood from a diagram called :

(1)  Punchsquare
(2) Punnettsquare
(3) Netsquare

(4)  Bullet square

T
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123.

124,

125,

126.

127,

128,

129,

Frefateaa § 9 9 e, 9.9 em. (ifeaisr s@en
STaTRan) o1 U STTTETT T8 € 2

(1) SF y=EEA

@ Yo T WEE w5 e

(3) S e =1 Ia1 ST

(@ i M

frtafon 9 9 <9 o Fom IR =W 82

(1) TR T SR F iRfre SR 9 e

gl

ol o1 TRfe 9ea Hien 2ran ¥

T w9 9= § den w finfae i

BRI S

gﬂﬁﬁaﬁammﬁ%mww@m
|

TS UIRY & WA | WATHT 6, Teh T4 9169 <6
eI O TR & feld s |1 v W 2T €
Tores wrmn & SR afden v Sirare 9§ fie
YR & GXATEHI ST ST & 7

(1) FSTays e

(2) el 9T

(3) ST TETU

@) YA

UEY RISt ¥ fheF o Sqied Uia fHan sn
qHAT e ?

(1) 7aveR fEi

(2) T TR

@) Tl

@) Al

SIS uiSifean = R yRRr faeig fF= s
TRl &2

() WIFA(+); B (+)

2) SHA(-); B (-)

(3) SUfdA (+); B (0)

(4 SAA(—); 9B (0)

STl ORISR, ORI 1 A S Y3l & 997 o
Teor Sram € 99 9E 1 e § 2

1)  Sideal

AR e i |

(3 HEgH

4) Ol

U GPP—R=NPP ¥ R frd frefm s=ar & ?
(1) HETHEH

(2)  IHTERY HH

(3)  YaEA B

(0 Tafew st

(2)
(3)

@)
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Which of the following is not an application of PCR
(Polymerase Chain Reaction) ?

(1)  Gene amplification

(2)  Purification of isolated protein
(3)  Detection of gene mutation

(4)  Molecular diagnosis

Which of the following statements is not correct ?

1)

Pyramid of biomass in sea is generally

upright.

(2)  Pyramid of energy is always upright.

3) Pyramid of numbers in a grassland
ecosystem is upright.

(4) Pyramid of biomass in sea is generally

inverted.

The term used for transfer of pollen grains from
anthers of one plant to stigma of a different plant
which, during pollination, brings genetically
different types of pollen grains to stigma, is :

(1)  Geitonogamy
(2) Chasmogamy
3)  Cleistogamy
(4) Xenogamy

Mutations in plant cells can be induced by :

(1) Infraredrays
(2) Gammarays
(3) Zealin

(4)  Kinetin

Amensalism can be represented as :

(1)  Species A (+) ; Species B (+)
(2) Species A(—);Species B(—)
(3)  Species A (+) ; Species B (0)
(4) Species A (—) ; Species B (0)

When the centromere is situated in the middle of
two equal arms of chromosomes, the chromosome
is referred as :

(1)  Telocentric

(2)  Sub-metacentric

(3)  Acrocentric

(4)  Metacentric

In the equation GPP — R =NPP
R represents :

(1) Retardation factor

(2)  Environment factor

(3)  Respiration losses

(4)  Radiantenergy
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180. Eet - I =1 gt - 11 o w1 gafoa i ;

et - 1

et - 11

(a)

afera Sifsrerr favrem
&l 791 Sl i

@)

Gagd

(b)

T Jae Foed |t
SR T 3R
#d = gie 9 T €

(i1)

fausdras

(c)

fafv=1 v =t
ISR ST 3%

(1)

femferfts

)

steafyen 9t fafa wg
Hepd] T[feent sefl g
CAIREAR]

(iv)

G Fdh

4 fe T ot 3 A TR S A

(1)
@)

(a)
()

(b)
(iit)

()
(i)

)
@

® @

(1)

(iv)

(3)
4)

(i)
(iv)

@
(iii)

(iv)
@

(iii)
(i)

131. AT HI 3F FA & forq, S g :d 3 T 51
1 A8 Toha ST & o 98 WA = hEen! 7§ 2
(1  SiF fafea
@) e e
@ g wm
@) SRt
182. ¥ - I =l =it - 11 § gufed S|
T -1 TR - 11
O o I O LG
3 . | S # fewn-
o) |FraesiEs | i) T 3 e
(©) [TorgEfag | (D) [FeRien § SHaafed
B GEEE IR IICEIR:]
(d) |Faeest (N)a_qirf N
= o T Taeedl | | a3 gia |
@ b @©
O O Gv @) @
@ @ ) @O @
@ @ G v @
@ (v @) @ @
183. TFf | siaUedrg wfaeast & dese, gfawdt

STl STl o ST STSaal & AT S 9 fafy =
e Teman 2rm 7

vy vt
@) TR

(3) WU

(@  HoryA fausm
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133.

N5
Match List - I with List - I1.
List -1 List - 11
Cells with active cell .. |Vascular
(a) diviei . 1| .
viglon capacity fissues
Ticouo having alloells | oo
{(b) [similar in structure a1 |,.
; fissue
and function
Tigsue having :
© different tvpes of cells isclereld
Dead cells with highly
(d) [thickened walls and (iv) |Simple tissue
narrow lumen

Select the correct answer from the options given

below.

@ (b) (© (@
H @ @ @ O
@ @O @ @ @)
@ @ @ a O
@ @ @ @ @

When gene targetting involving gene amplification
is attempted in an individual's tissue to treat
disease, it is known as :

(1) Gene therapy
(2) Molecular diagnosis
(3) Safety testing
(4) Biopiracy
Match List - I with List - 11.
List -1 List - 11
(a) | Cristae @ Primary constriction in
chromosome
: ... |Disc-shaped sacs in
Thylakoids
®) AR (@) Golgi apparatus
(c) |Centromere | (iii) Eﬁiﬁiﬂdr]?a
Flattened membranocus
(d) |Cisternae (1v) |sacs 1n stroma of
plastids

Choose the correct answer from the options given
below.

(@ (b)) (© ()
@ o v @ o
@ @y G O
@ @ @ ) 6
@ @) @ @ @

Inspite of interspecific competition in nature,
which mechanism the competing species might
have evolved for their survival ?

(1)  Competitive release
(2) Mutualism

(3)  Predation

(4)  Resource partitioning

T
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134, T=fafEd | 9 = 91 9ey Swafomse g ? 134, Which of the following plants is monoecious ?
(L) R (1) Chara
(2) I 19T Tt (2)  Marchantia polymorpha
(3) HEHG gt (3)  Cwycascircinalis
4)  FRFr9mar (4)  Caricapapaya
135. 'Flﬁﬁ'- 157 Hiﬁ' -1 F MY {[Erl"wr FITST | 135. Match List - I with List - I1,
List -1 List -II
W‘ - w_ g pecs il Gy @ More attraction in
A L[S STE &ipd liguid phase
®) ® AR SRy Mutual attraction
) gl 21 =% =g (b) | Adhesion (i1) |among water
& 2 waﬁi" SR iplecules
© [T= T (i) |7 Sereen ¥ e i (© [Surface tension | ii)| ) 2o 1% 1 B
@ |fog = iv) t‘ﬁmi ST @ |Guttation (iv) ‘ng:f‘;ij?az‘;:’”ds
g Choose the correct answer from the options given
A A
L (v @ @ 0 @ (b) () ()
@ @ @ G ) O ) @ W O
@) @ @ (v (i) @ W @ @) @
@ @ Gv) @ @ Gh) @ G O v G
3T - B ( SHafasm : safafaa ) W @ b G

Section - B (Biology : Botany)

136. T ”If.i ﬁ[ 5 ? [ 3’:‘“‘%%%%?; g_»:; “5 [;. wilfl 136, In some members of which of the following pairs

of families, pollen grains retain their viability for

Tl 82 ths after release ?
1) e, w ?11;“ ]?S’c?acexs.ize; Iigzzminosae
@ i, (2)  Poaceae ; Solanaceae
(3) ﬂﬁ?ﬁ, ﬁ’ﬁﬁﬁ]ﬁf (3) Rosaceae ; Leguminosae
(@ 9T, e (4)  Poaceae ; Rosaceae
SPErsT 3 ; fafers | 187. DNA fingerprinting involves identifying differences
135 ig.g VIS EI? q@gﬁ%&iﬁéﬁ 3’;; ffore in some specific regions in DNA sequence, called
T il 91 ] S5 2 () Repetitive DNA
g %?%qﬁr gLu, (2)  Single nucleotides
ﬂ SRICLES 3) Polymorphic DNA
(3 g ST @  Satellite DNA
(4 ST S, 138, Match List - I with List - II.
138, FE - I FIE - 11 % T2 FAR FIfSC List - I List - II
et - 1 et - 10 (a) |S phase (i) Pro:fline: ax(;le
(@) |S sTarean ) | = Tero g & ————
. (b) | G2 phase (ii) | Inactive phase
(b) |Gz 3F=rEn (i) [F5Fa s
Interval between
. H\ﬁ farsmsr SR (c) |Quiescent stage |(iil) |mitosis and initiation
(c) ST STareq (iii) [ BT, EIEEaREau & of DNA replication
YA B & S SRR
. - (d) |G1 phase (iv) | DNA replication
:ifrg % = - 1_;1 2 :;u'_;i ?ﬁrq | Choose the correct answer from the options given
ferereral below.
@ ® © @ e ) © @
(L v @ @) @ )  Gv) @ @) @
@ @ O @ o @ v O ) G
3 @ an @) @ B) @ (v @) @
@ ) @ @ v @ @@ @ @ v

T
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139. ™IHS pBR322 T S ampl & 37T Pst] Ufqaaq | 139, Plasmid pBR322 has Pstl restriction enzyme site
T § < ueifaei= ufay Suiar 1 afg =9 Wit:hill gene a{npR that_ confers za.,mpic_illin
T=T3H i de-ToREEe Saed & 4, UF Si° % resistance. If this enzyme is used fu:_:-r inserting a
fau fafvm fo s ® o g wifme =0 gene f?r B-galacifﬁ_slgle pI‘Od:’-lCtl'DIl ar}d t}_le
g HIc w2 1 et forar sirar £ 99 - recombinant plasmid is inserted in an E.coli strain
1) "@%ﬁﬁﬁ‘ﬂﬁﬁ'ﬁ[@ﬁ T TRis T & (1) the trarnsforme_dtce_lls will have the ability
2t TR WY B He-Tereare ST SO0 to resist ampicillin as well as produce
@ Eﬂﬁ Wam‘cﬁw A NQﬂmﬁ NIWQ*II ST (2) :ﬁ;iﬂﬁ;ﬁiﬁl}rsm of host cell
@) ﬁ & RALEL H (3) it will be able to produce a novel protein with
TSR 1 TETae waie dual ability.
@ = et wl Tl = (4) it will not be able to confer ampicillin
AT
BN resistance to the host cell.
140. FEATeREm o Fo T 140, Identify the correct statement.
(D ?ﬁa'r'ﬂ‘ﬁf L 31':1@@? EIRERIETRE R ETE| () RNA polymerase binds with Rho factor to
& ferg ?{mm‘; ETHS], Rho R & W terminate the process of transcription in
S 21 S bacteria.
2  TF ITAE THE H Fe o, Th mRNA W (2)  The coding strand in a transcription unit is
fa '&:IT'IT g ‘ copied to an mRNA.
(3) ?‘H#ﬂ STH- oo GrehfEne = fafire wem (3)  Split gene arrangement is characteristic of
I prokaryotes.
(4 o o Ofera =R T;'IE"FI@IE F hnRNA (4)  Incapping, methyl guanosine triphosphate
+ 3' T & e S 21 is added to the 3’ end of hnRNA.
14, WE-IH@WI-1I T ﬂ'ﬁﬁﬁﬁ-ﬁ'ﬁ'{ | 141, Match Column - I with Column - I1.
- A Column -1 Column - 1T
Wa-1 HH-II (a) | Nitrococeus | () |Denitrification
(a) | TEZIHIFG R IEEIFHEDY o |Rhizobium | i) Conversion of
} g = AR H ammmn‘a to mtrlt?
b [Teif | G ofiadq ()| Thiobacilius | (i) fﬂ"ﬁ:‘:;’“ of nitrite
(c) f‘g;q?gm (iii) RLEEETAT 7“322 ﬁ Conversion of
EIEChE| (d) | Nitrobacter |(iv)|atmospheric nitrogen
?73;7@3?.'{ , EII{]_H'EF“E! :ITEQTTF-[ ER to ammonia
@ (iv) aifar 3 yiadq Choose the correct answer from options given
r s below.
@ (b)) © (@ O @ 6 @) G
O o o m @ G 6 v @
@ @ @ @ o @ v G @ 6
Ej; E%Z‘;) ?ﬂ)) %) E%?,) @ @ G O G
i iv i il 1
142. Match Column -1 with Column - II.
142, %Y - [ &l WY - [ & gAfem Fifs | Coliiii -1 Colunin 11
W -1 Wy - 11
(a) %O K, ..C G, (1) Brassicaceae
(a) %Q‘K(ﬁ}cl+2+{2)‘A{9j+ 1Q1 ) T éd {5Li+ 2+(2}A(9}+1 1
= () 30K C . AG (11) Liliaceae
(b) #SK 5,CAsGy G ferfereeh ' i
(c) ®OP A. G (111) Fabaceae
(© @ é‘mm J Q(B} (iif) Aot (5 (3+38¢ 5 +323)
1 (d) 2QK,, ,CA; G, (iv) Solanaceae
(d) EI@KZ* QC‘*AE“*{E—}{E} (v)  HRTE Select the correct answer from the options given
= f T foei § 9w SR g below.,
@) (b)) (© @) (@ (b (@ (@@
L @O @ @) G 1 @ @ @y @)
2 @ @ @ @ @ @ @ ) O
@ vy @ @ @ @ @ W @ @
4 @ ) @ @ @ @ @ W @
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143.

144.

145,

146.

fr=fafen § 9 & 79 =1 AT

(1)  Tesieras ufeai | - At Faw
HIgT U,

et fafy aredt 52

Eicakie)

fey g €

Ffazm 5o F wm rform

Frrator st €

STl %l Wien aAral - TSl ggah
Toiferer gg wifdeer i

B T ©iF % AR

i fiog Tt §

1H ot 9l 1 AR - FETHE HIRE
¥ 5 O T

ERIREAD]

ST Gl THIH

N,=N_e"t H, e T Tofog FRaT € 2

(1)  <IdIeh] STEUTeh Rl STER

(2)
(3)
4)

fefafam i A T FE Toa E?

Q) TLEL (TR wfiags swan) #H,
NADH + H* & TF 379 9§ LI 1. F T o1
T & 3IR T FADH, YT ATP ST Fd & |

WA, = Ay S V ¥ g S ¥
IUITEA SR, Y | Wi Yaurdl Saa=1
Lt ¥

AT TTE = SR, Sfaier i yfier sifew
ST 9 Hifae &

IR o T 9 1 Jearem are 9 396 LA
T WL HL IR Th a8 AN SARTH TIHT F:
THH! U89 L HR S0 FHH Tl suiEtad siE
T U AT SATSThRel Hefe & Rt

()  SEREdd St PRI R fer T qUl 3R T
O oTel ¥

Iaf@fda Siv wreRniFEs fHed 9T 71g s
Fifer W | 0 HIE I T8 T
IEfdd S wREfEE fheg W & o
T e H SR YTH o T

Iafatda st RERTES fHer 12 3T w9
T ot 1

2)

(3)

@)

qTehidh STET0Teh Rl STTER
STTH{TeR ST 3 SITHR
T TTTUTh <Rl STTHR

(2)
3)

4)

(2)

(3)

4
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Select the correct pair.

(1) Indicotleaves, vascular - Conjunctive
bundles are surrounded  tissue
by large thick-walled
cells

(2)  Cellsof medullaryrays - Interfascicular
that form part of cambium
cambial ring

(3)  Loose parenchyma cells - Spongy
rupturing the epidermis  parenchyma
and forming a lens-
shaped opening in bark

(4) Largecolorlessempty - Subsidiary cells
cells in the epidermis
of grass leaves

In the exponential growth equation

N¢=N_e™", e represents :

(1)  The base of exponential logarithms
(2)  The base of natural logarithms

(3)  The base of geometric logarithms
(4)  The base of number logarithms

Which of the following statements is incorrect ?

(1) In ETC (Electron Transport Chain), one
molecule of NADH+H™* gives rise to
2 ATP molecules, and one FADH, gives rise
to 3 ATP molecules.

(2)  ATPissynthesized through complex V.

(3) Oxidation-reduction reactions produce
proton gradient in regpiration.

(4)  During aerobic respiration, role of oxygen is

limited to the terminal stage.

Now a days it is possible to detect the mutated
gene causing cancer by allowing radioactive probe
to hybridise its complimentary DNA in a clone of
cells, followed by its detection using
autoradiography because :

1)

mutated gene completely and clearly
appears on a photographic film.

(2) mutated gene does not appear on a
photographic film as the probe has no

complimentarity with it.

(3) mutated gene does not appear on
photographic film as the probe has

complimentarity with it.

€

mutated gene partially appears on a
photographic film.

collegedunia:s

India’s largest Student Review Platform

sh

T



Hindi+English

147. et - I 0 ol - [T % Wy gofad i |

Tl - 1 il - 11
(a) (WM () [C=cC fesmy
(b) | SEE T FFA | () | WERISETE 0-Y
(¢) |=gereil=n 3T (1i1) [TATRIEE S oY
(d) [vieitdFuze (iv) [Ieize o=
T e T Taepedi # 9§ W SW g |
@ b)) © @@
L O Gv) @) @)
2 @ @ @) ()
@ v @) @ @
@ v @O G 3
148. FAfafEe i AR I FFA @ E?
) i3 - Aifel 9 e PS 18T E 3R NADP
fews =1 sv@ B 2
(@) AT ATl | PS I 3R PS 11 SF1 8 §1
()  THEhIE HehTS BIERH R 0 PS 1 &R PS I M
it 2 €1
(4)  ATP 3RNADPH +H*+ i &l TR =h9 T
TR & S G907 BT & |
149, FAfafEa H A T FFA A 2 ?
(1)  37=cl gl T Il PHFI F = Sifazed
T &l ShiTSTehT S-S el Sl & |
@ i St e g W A R E 3 gt
gl I £
B) TS A ARSI TEeISH F TS IR
FE! ST aret fafire st | feerfga o
Td B
(4 < FifaEsll F GoE 6 FEs o9 55
Sy
150. THMehgen! Sitell § TIeEq o1 Ufshal § STRUAY,
TieTHS- [11 =t YJfHert 1 8 2
1) %RNA, 53 rRNA 3R snRNA =l 3TcAfEa Sl
2 mRNA % aladl =l STAEd F1
(3 *Fad snRNAs F STITEd Hadl §
@  rRNA (288, 188 3IR 5.8S) &l STcIEd =<l
3
AN - A ( SHafesn : wifufeser)
151, % fafre wgam s#ww st deigfaaus g/

I TF U i fafyre feafq W e & fou gg=m s
T, T FEAET & ?

1) SIS 3T

@ eSS faasiers sHT
(3) ©g (T) o1 STk

(4) TRES 3TehY

37

147,

148.

149.

150.

151,

N5
Match List - I with List - I1.
List -1 List - 11
(a) | Protein (1) |C=C double bonds
(b) Unsaturated (11) | Phosphodiester bonds
fatty acid
(c) |Nucleic acid (i1i) | Glycosidic bonds
(d) |Polysaccharide | (iv) | Peptide bonds

Choose the correct answer from the options given
below.

(@ () (@ ()
O @O @ @ @
@ @ O Gv) )
@ @ @ @O
@ @ @O @ G

Which of the following statements is incorrect ?

(1) Stroma lamellae have PS I only and lack
NADP reductase.

(2)  Granalamellae have both PST and PSII.

(3)  Cyclic photophosphorylation involves both
PSTand PSII.

40 Both ATP and NADPH+H™* are
synthesized during non-cvelic
photophosphorylation.

Which of the following statements is correet ?

(1)  Fusion of protoplasms between two motile
on non-motile gametes is called plasmogamy.

(2)  Organisms that depend on living plants are
called saprophytes.

(3) Some of the organisms can fix atmospheric
nitrogen in specialized cells called sheath
cells,

(4)  Fusion of two cells is called Karvogamy.

What is the role of RNA polymerase III in the
process of transcription in eukaryotes ?

(1)  Transcribes tRNA, 5s rRNA and snRNA
(2)  Transcribes precursor of mRNA

(3)  Transcribes only snRNAs

(4)  Transcribes rRNAs (285, 185 and 5.85)

Section - A (Biology : Zoology)

A specific recognition sequence identified by
endonucleases to make cuts at specific positions
within the DNA is :

(1)  Okazaki sequences

(2)  Palindromic Nucleotide sequences
(3)  Poly(A) tail sequences

(4)  Degenerate primer sequence
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152.

153.

154.

155.

156.

157,

158.

159.

STiRsh! Wl STeTE Tisha § ®F 91 USTEH TR,
e TR0 TS THIA i Sfa FLa s ?

() BT TR MR R U e

@ YR

3 ST

4 BT W RS U

TG feT B S TS . & fatw w9
T IEFHT ITET FHi FETE ? i

() e UfETIRE TR s s i

(2) ey HosT i hifdrmd

(3) I I STREIETHEER hITSThTT

4) ST I -

et | i wEE o SR R e ST SRy g § 7
(1) I R i § GUR

@) I A H GUR A1

@)  G¥I-ueehi T @i B A H GER S
@) R O § EUR HE

F A1 USIEH TeRg wEisqe &1 wEfsT o deem
¥ o St 82

1) ¥

2) I

(3)  drEREAS

(4) oA

‘AB’ & 9qg % AfFal wi wd w6 e €2
(1) IHT H Yiae A TS B i o W
2 RBC A U-A wg UF-B wfaad =t suftefa s

H

(3) wWEATH UA-A UE UH-B wiawadi i srafefa
B F

4) RBC %l 98 W UfdsH A @8 B = srufeafa
& FR

3TfE I I TEAT,

1 fom - A

2 fge s HHFAETT A

3 Z - RfEw

(4) Uchadizgd - HIEH

foerag % wey # s o fafmea swfad §2

1) ;ﬁmﬁg@ﬂﬁmmwmﬁm

|

%Inanf 7-9 T ST THETRT SFfeh &S =1
|

S el # <ud we H TR oH I WK ¥
T U YT o GiY e T S8y S
1 U 6T BT 2

it (faeror woer) H sadisM (0,) T8 e
ggaﬁm (CO,) 1 i3 T (mm Hg #) Bl
(1)
(2)
(3)
(4)

(2)

(3)
(@)

pOy, =40 pCO, =45
pOy=95 T pCO, =40
pO,=159TdApCO,=0.3
pO, =104 T pCO,=40

38
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Which is the “Only enzyme” that has “Capability”
to catalyse Initiation, Elongation and Termination
in the process of transcription in prokaryotes ?

() DNA dependent RNA polymerase
(2) DNA Ligase

(3) DNase

(4) DNA dependent DNA polymerase

Erythropoietin hormone which stimulates R.B.C,
formation is produced by ;

(1)  The cells of rostral adenohypophysis
(2)  The cells of hone marrow

(3) Juxtaglomerular cells of the kidney
(4)  Alpha cells of pancreas

Which of the following is not an ohjective of
Biofortification in crops ?

(1) Improve resistance to diseases

(2)  Improve vitamin content

(3  Improve micronutrient and mineral content
(4)  Improve protein content

Which enzyme is responsible for the conversion of
inactive fibrinogens to fibrins 7

(1) Renin

(2)  Epinephrine

(3)  Thrombokinase
(4)  Thrombin

Persons with ‘AB’ blood group are called as
“Universal recipients”. This is due to:

(1)  Absence of antigens A and B in plasma

(2)  Presence of antibodies, anti-A and anti-B,
on RBCs

(3)  Absence of antibodies, anti-A and anti-B, in
plasma

(4)  Absence of antigens A and B on the surface
of RBCs

Identify the incorrect pair.

(1) Toxin - Abrin

(2) Lectins - Concanavalin A

(3) Drugs - Ricin

(4)  Alkaloids - Codeine

Which of the following characteristics is incorrect
with respect to cockroach ?

(1)  Hypopharynx lies within the cavity enclosed
by the mouth parts.

(2) Infemales, 7th-9th sterna together form a
genital pouch.

(3)  10th abdominal segment in both sexes, bears
a pair of anal cerci.

(4) A ring of gastric caeca is present at the

junction of midgut and hind gut.

The partial pressures (in mm Hg) of oxygen (O,)
and carbon dioxide (CO,) at alveoli (the site of
diffusion) are :

(1) pOy,=40and pCO,=45
2  p0y,=95and pCO,=40
3 p0y,=159andpC0,=0.3
4 p0O,=104 and pCO; =40
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160. it - I =i geit - 11 3 919 foar =4 |
Gt - 1 Al - 10
(a) |Faa e 1) [|Hre=En
(b) |- (i) [
(c) |k UTETR (iii) [TAfersT
(d) | <51 FifvrR (iv) [T
1= forel o 9 sfaa s =1 =39 4
@ b)) © @@
(1 () av O (1)
@ (@ G @ @
B & @ @ @i
@ v @ O (1)
161. Fiuwet § siiE@Hraifad a7 % fau s &
it =1 =" w1
() =0, S=pCO,, Aftm H, s18arsd 3=
AIH
@ T pO,, T pCO,, A H*, syFd 3=
GIREIE
® ™= p0,, F=pCo,, sfus H+, stharra 3=a
GIREE
@ S p0,, FH pCO,, FFT H, STU&ET %4
Gk
162. T € I F A 4 <t yard = stfufiren & Skm
e ARY H I=H qI9AE o7 8 &l 99 FE o
Tt Gt 3R 1 ST =0T U THIfe 207 ?
() TER
@2 TiseRm
(3) EEIYH
@ ATt
163. ST YAieRen I i H yrerwen @ fafire agmo
FIETHE 1 STAEA B 2
() FHUE
(2) HIfase
(3) ¥Ug
@ dduE
164, TeTRE B yemo] Se & T e sutter g ¥ ?
(n  Yaw faee
2) R Tt
3 S iegfEe
(4  FRE IS
165. T R 3R AR AT < ISR STl & SiF o fau

faearash § o Yo © 3o Hafa =1 feraen gfaem

I BT ?
) 75%
@  25%
3  100%
@  50%

39

160,

161.

162.

163.

164.

165.

N5
Match List - I with List - I1.
List -1 List - II
(a) |Metamerism (1) |[Coelenterata
(b) |Canal system (i) |Ctenophora
(c) [Comb plates (1i1) |Annelida
(d) |Cnidoblasts (iv) |Porifera

Choose the correct answer from the options given
below,

(@ (b)) ()
QO @ G O @
@ @ e W O
@ @ @O @ 3G
@ @) o @O

Select the favourable conditions required for the
formation of oxyhaemoglobin at the alveoli.

(1) Low pOy, high pCO,, more H*, higher
temperature

2) High pO,, high pCO,, less H*, higher
temperature

(3) Low pO,, low pCO,, more HT, higher
temperature

(4) High pO0,, low pCO,, less Ht, lower
temperature

During the process of gene amplification using
PCR, if very high temperature is not maintained
in the beginning, then which of the following steps
of PCR will be affected first ?

(1) Extension

(2)  Denaturation
(3) Lagation

(4)  Annealing

Which stage of meiotic prophase shows
terminalisation of chiasmata as its distinctive
feature ?

(1) Zygotene

(2)  Diakinesis

(3)  Pachytene

(4)  Leptotene

Receptors for gsperm binding in mammals are
presenton:

(1)  Vitelline membrane

(2)  Perivitelline space

(3)  Zonapelluada

(4)  Coronaradiata

In a cross between a male and female, both
heterozygous for sickle cell anaemia gene, what
percentage of the progeny will be digeased ?

O 75%
2  25%
(3)  100%
@  50%
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166. SiEeel Tawfaer fae s dfmn Ueia dig i ywifag | 166, Chronic auto immune disorder affecting neuro
FIE T UG ToHE FR s U wEed ud muscular ju.nctic}n leading to fati_gue, weakening
YTET BT €, FRER © ¢ and paralysis of skeletal muscle is called as :

(1) Iy g&ﬂw (1)  Muscular dystrophy
@)  HEEtTE Ifaw (2)  Mpyasthenia gravis
(8) 2 (3) Gout -
(4) q’ﬁ]ﬁq (4) Arthritis
167,  <hsT 07 Foredy g eI B E 2 167. Veneral diseases can spread through :
W T (B (a)  Using sterile needles
@) .= iﬁﬁ = «ﬁ (b)  Transfusion of blood from infected person
) Horiha fea F T wem U b e
© EFfEmEE o1 3 E(cl)) Kiszieg mother to foetus
) Wﬁgﬁ@ (e) Inheritance
© N Choose the correct answer from the options given
= foredi A H ST T FU| below
(1) e (b), (¢) T (d) N A (d) onl
0 F () T O (1) (b), (¢)and (d) only
(3) A () W (c) 2 o ey
2 L (3) (a)and (c)only
@ O (a), (b) T () @  (a), (b)and ) only
168. ‘Hm%ﬁl & ‘v'ﬁ'f’f - 11 % 37 THeT = | 168. Match the following :
Tl - 1 il - 11 List - I List - II
(a) | FrEferar @) W (a) | Physalia (i) |Pearl oyster
— (b) | Limulus (1) |Portuguese Man of War
(b) | e @ |3 % 3k (¢) |Ancylostoma | (111) |Laving fossil
(o) | TrargereErm | (iti) [Sitfed Sireren @)|Pinctada | (iv)|Hookworm
() | fewarer (iv) eﬂw Eﬁg&fe the correct answer from the options given
=1 Taeredl 9 sfora 3ot &1 =9 =41 '
@ (k) @©
2) () (& U@ O @ O @ @
o B o g W @ @ @ @ o
0 oo B ® O G @ @
W G @ O 60 @ @ @ @ )
; : 5 ol " 169, With regard to insulin choose correct options,

163 &9 %ﬁ e ﬂ dlquﬁm? Rl ;%l (a)  C-peptide isnot presentin mature insulin.
(a) g § Tl I : {(b) The 1insulin produced by rDINA technology
b) R T e | s $geltT 4 has C-peptide.

-U2EE B | (¢0  The pro-insulin has C-peptide,
(©) chp—éﬂm']ﬂ O d-UeEs e el (d) A-peptide and B-peptide of insulin are
() 3@:{ F U-UURE U9 9-UCRS SRUCHTES interconnected by disulphide bridges.
el R UREE 2 B e Choose the correct answer from the options given
s Y - below.
= ﬁqa;liﬁaa?@r o 5 3| S == =+ -
() bk D) R 0) (5 @) (T andid) oal
EZ; o Ea; (C')(i? () @  (ayand (d) only
3 a QEI @  (byand(d)only
@ av?ﬁ e ) 170. 'Which one of the following belongs to the family

170, T s afdt o § sman €2 Muscidae ?
aQ fegi (1) Grasshopper
@) TaerEm (2)  Cockroach
3 HIEl (3) Housefly
@ ST (9 Firefly

T
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171. ¥ %91 i 9@ 171. Read the following statements.
(@  HISH HIE o 9 SR (1)  Metagenesisis observed in Helminths.
) THEEAeH HERE W IR Sg e ¢ | ()  Echinoderms are triploblastic and coelomate
(© TRl B TS TR S o 2Rl § animals.
%) R zufem WWW T = (c) bRn;nd woz:m?j have organ-system level of
ody organization.
sl %‘ l N o (d)  Comb plates present in ctenophores help in
@) 1 Herad w1 UsmreAed = Tafyrsear 3t 7 b
et foret @ 3F—°|H ST <h1 =9 | (e) %}gaige?c:;scular system is characteristic of
0 (@), b) T () T T Fchinoderms.
2 (@, )T ) g g | Choose the correct answer from the options given
@ (b), (00T (e) | below.
@  (©, ()T () TE T gl; Ea;, E{l:i) ang Ec% are correct
_ » e Fifw 2 a), (d) and (e) are correct
kA2 ‘H“%ﬁl L= ‘H“%ﬁ 11 % 1 | 3)  (b), (¢)and (e) are curiect
'{ﬁﬁ -1 Q\%ﬁ -1I (4)  (c), (d) and (e) are correct
} — [rrttera = § e 172, Match List - I with List - I1.
(@) |Ate L e T List - I List - II
b) |s13 ?Lg”[ (i) [geeerEes hl B2 (a) |Vaults ) Entr?r c{f sperm through
> : Cervix is blocked
YIRS .o [TTTET H YRS 0t
(c) T (i1i) EFRTOTR (b) [IUD= (ii) |Removal of Vas deferens
py m—— s e N ) O e i
ECAR |
=1 Toeredl | 9E ST S == Y | (d) |Tubectomy [(iv) |Removal of fallopian tube
1) 53 ) gjl)) EE; E;g Choose the correct answer from the options given
. ; ; helow,
@ @ ) @) 0 @ G © @
3y () Q) av) (i) : e :
@ @ @ O G W @ o 9
173. T # W99 deaiwur % faw o W RNA S6vas E3§ Ei) E}") Ef;)) Eﬂ}
T §7? @ @ @ @
()  tRNA 173. Which of the following RNAs is not required for
2) rRNA the synthesis of protein ?
(8) siRNA (1) tRNA
@ rRNA
174 S;wréhf?iﬂm e % ) ;RNA
' . FIRHE @ mRNA
(&) sm Wg 174. Succus entericusis referred toas:
(2) S (1)  Intestinaljuice
3 FEAY 2  Gastricjuice
@ TR (3) Chyme
175. Gt - I %0 Gt - 11 & |19 o | (4)  Pancreaticjuice
i ‘q;'i‘ - 175. Match List - I with List - IT.
-1 -II
List -1 List - II
(@) | demeforera T3 W) |uHifew o7 (a) [Aspergillus niger (1) |Acetic Acid
(b) ottt e (i) |Sfass a1 (b) |Acetobacter aceti () |Lactic Acad
© | sepeztfem n (i) [fafes (c)|Clostridium butylicum |Gii) |Citric Acid
O | azh . il (d) | Lactobacillus (iv) |Butyric Acid
@ (tv) [ 3 Choosge the correct answer from the options given
o1 foereti 4 @ SR T = ¢ below.
@ (O © (@) (b (9 (I
O O @ @ @ o oy @)
@ G G @O v @ W @ @© @)
@ (v G @ (i) @ @ W @©
@ (@@ @ G @ @ w @ aa W

T
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177,

178,

179,

180.

181.

182,

42

RS U7 3 YYET SUER & T 39 IRYe M
e {1 T famm 61 g aga Heoy €1 fr= A
F ° e frem aee sRibE vge=m & fow
agd ITErf ¥ ?

(1) G ST aFSw

(2) ELISAdH%

(3) TR qRAIR

@ S =T g

AReRehE e TEIfor Srar @ ?
(1) qErEE

@) TEEe

8) G, W

4)  S-HEE

TS T T SRR H 8 TS (2n) B
Ff G TawTF il Sfaqaedn a1 G, Wawn § TR
&1 T 8 ¥ 79 S-TTo o A U ol T F:1
Bt ?

1) 16
2 4
3 32
4 8

frer H Torw <fta § et a1l @raelt wd =ifae
BT 2 2

1 FeTTay

Q) BT

(3)  FHfTeREg

40 e

TEg TS TR 1 1218 A9+ & o9 S i SR
&2
(1)
(2)

THAIH S
3T

(3) =vHEd
(4) H TEHE

SrEY SrEfer wel Sufeer Bt 8 ?

(1) I SRR Jifet ud TR 9iy

2) Se-ufae |y

@) IR TS TR wiy

(4)  T5ehia |y

i fafeer 93 9 = 9 =iy wfinfag g € 7
(1)  SAdEsdr STierehl, Tiiesll AEAY, TOIH™ TS
T

Tiestt T g, Gk, TgarEm Td daTsE
Tiest wftng, sidgedt e, R T
[GREE D)

@)
3)

@)

176.

177.

178.

179.

180.

181,

182.

Hindi+English

For effective treatment of the disease, early
diagnosie and understanding its pathophysiology
is very important. Which of the following
molecular diagnostic techniques is very useful for
early detection ?

(1) Southern Blotting Technique

(2)  ELISA Technique

(3)  Hybridization Technique

(4)  Western Blotting Technique

The centriole undergoes duplication during :
(1)  Prophase

(2) Metaphase

(3) Gy phase

(4)  S-phase

The fruit fly has 8 chromosomes (2n) in each cell.
During interphase of Mitosis if the number of
chromosomes at G, phase is 8, what would be the
number of chromosomes after S phase ?

O 16
@2 4
G 32
4 3

Which one of the following organisms bears hollow
and pneumatic long bones ?

(1)  Hemidactvius

(2) Macropus

(3)  Ornithorhynchus

(4)  Neophron

Dobson units are used to measure thickness of :
(1)  Stratosphere

(2) Ozone

(3)  Troposphere

4 CFCs

Sphincter of oddi is present at ;

(1)  Junction of hepato-pancreatic duct and
duodenum

(2)  Gastro-oesophageal junction

(3)  Junction of jejunum and duodenum

(4)  Ileo-caecal junction

The organelles that are included in the
endomembrane gystem are ;

(1) Endoplasmic reticulum, Golgi complex,
Lysosomes and Vacuoles

(2)  Golgi complex, Mitochondria, Ribosomes and
Lysosomes

(3) Golgl complex, Endoplasmic reticulum,
Mitochondria and Lysosomes

(4)  Endoplasmic reticulum, Mitochondria,

Ribosomes and Lysosomes
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183.

154,

185.

186.

187.

188,

Forer o § 3 Tt Yo 3 Tt W o &
Y g 2

) ¥ Ifesw IfmEr B 2

© ?@Wﬁﬁnmmmﬁgﬁ;ﬁmé\m

|
@ %R o aifew w fafa o suftea 36 #
@ O o et s S

11 & e T A g g S See 2

(1) LNG 20

2 Cu?

(3) T 375

4  CuT

I T & T T A9 § WS F W60 30% & 99
AT, T Ue WEerdr fera wfasm 2 ?

(L T:20;G;20;C:30

2y T:30:G:20:C:20

3 T:20:G:26:0C:2b6

@4 T:20;G;30;C:20

STTHTT - B ( Siefem : wiforfemrT )

HIL: Ve AUG HiforE wE wie-tente
T FZ TG FA G |
FAAIL:  AAA’ TF AAG ST wepe T s

TG o1 e T F7d |
S FUA % oMER R = farel | T s
=T F |
() EH RHITI UE He 11T £
2 T I T & T e 11 T ©
(3) YT T & @i e I W )
@) TH RITI S HYT I 98 2

o | g9e & ARY & fag =1 F $F wee
ST T & 7
(1)  UrRErArEd

@ S T A

3) Vel & HEA

@ TS TE WS % W U e
Uyt WA H i 6 T gt § 2

(@ H = foera 8 S

G CAdSIESRTEE

© T¥eH EeE TR o

@) HEIfET ATP 1 SiersTTsied #% ADP S Pi
T A= FL e

@ TUEEA § gafd Z-T 3 W W g9
S &

= ol S Od ST FU |

L) e (), (b), ), (d)

2  FEA (b, (), (d), (&)

3  HEE (b), (), (o), (@)

@ e (a), (), (d), (&)

183,

184,

185,

186.

187.

188,

N5

Which of the following statements wrongly

represents the nature of smooth muscle ?

(1)  They are involuntary muscles

(2) Communication among the cells is
performed by intercalated discs

(3) These muscles are present in the wall of
blood vessels

(4)  These muscle have no striations

Which one of the following is an example of
Hormone releasing IUD ?

(1) LNG20
@ Cu?
(3) Multiload 375
4 CuT

If Adenine makes 30% of the DNA molecule, what
will be the percentage of Thymine, Guanine and
Cytosine init ?

1 T:20;G:20;C: 30

@ T:30;G:20;C:20

3y "Pi20;4x:25;0:25

4 T:20;G:30;C:20

Section - B (Biology : Zoology)

Statement ] :

The codon ‘AUG codes for methionine and

phenylalanine.

Statement I1 :

‘AAA’ and ‘AAG’ both codons code for the amino

acid lysine.

In the light of the above statements, choose the

correct answer from the options given below.

(1) Both Statement I and Statement II are
false

(2) Statement I 1s correct but Statement 11
1s false

(3) Statement 1 1is
Statement 11 is true

(1)  Both Statement I and Statement II are
true

Which of these is not an important component of
initiation of parturition in humans ?

(1)  Synthesis of prostaglandins

2y  Release of Oxytocin

(3) Release of Prolactin

(4) Increase in estrogen and progesterone ratio

During muscular contraction which of the

following events occur ?

(@) ‘H’ zone disappears

by ‘A’band widens

() T band reduces in width

dy Myosine hydrolyzes ATP, releasing the ADP
and Pi

(&)  Z-lines attached to actins are pulled inwards

Choose the correct answer from the options given

below,

(1)  (a), (b), (c). (d) only

(2) (), (), (d), () only

3 (), (d), (e), (ayonly

@  (a), (o), (d), (e)only

1ncorrect but
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189. =1 § *F TEiva siigeed Tl SEw s | 189, Which of the following is not a step in Multiple

(MOET) =1 =01 T& & ? Ovulatign Embryo Transfer Technology
) SR # ST 6-8 3 ST A € g}iOEE}c}% ields about 6-8 eggs at a time
(@) T FH e g Pt e s SR ki
; : (2) Cow ig fertilized by artificial ingemination
(8) T EIFI 3:@‘ 8-32 YT SToreen H T EEY (3)  Fertilized eggs are transferred to surrogate
TR B T fFa 5Td 8 | mothers at 8-32 cell stage
() T ¥ 39 erde & 9 LH S T (4)  Cow is administered hormone having LH
T ETEE & s § like activity for super ovulation
190. fafire 9 wefae a9 9= fRu u ) 190. Following are the statements with reference to
W T : ; . lipids’.
@) @ il :g; gthc*l S B T IR (a)  Lipids having only single bonds are called
AT EI'%iI] el ! unsaturated fatty acids.
(b) mwm ® ! ()  Lecithin is a phospholipid.
© IEIESE PIRER e el (¢)  Trihydroxy propane is glycerol.
Q) ureHfew 37T A wTEifodad Hda 9igd (d  Palmitic acid has 20 carbon atoms including
(d)
20 e & AT B | carboxyl carbon.
© VRS T § 16 FEA TR T ()  Arachidonic acid has 16 carbon atoms.
: o Choose the correct answer from the options given
= fomredi @ Sfoa SR &1 999 FU below
() e (o) T (d) (1) (¢ and @) only
@ O (o) T (0) @  (b)and (c)only
(® FE(b) T () ®  (byand (e)only
@) Fad (2) T (b) @)  (a)and(b)only
191, aﬂQ + W T Hefid HuA § feu Mo g 191. Following are the statements about prostomium
(@) I8 TW T T I HE FA S of earthworm.
b)  TFFEEH =0 G § Hee wan S s (a) It serves as a covering for mouth.
T 1 W ¥ (b) It helps toopen cracks in the soil into which
X ; it can crawl.
© I8 UF G WA R

{c) It is one of the sensory structures.

) f B m”ﬂi F I TE | @  Ttisthe first bod
7 i y segment.
gz < T:ﬁlﬁ S =l =T | Choose the correct answer from the options given
D (@), ®) T @ & below.
@ (@, 0), @) TEE (1) (a), (b) and (d) are correct
3 () G’@ g ‘ (2)  (a), (b), (c) and (d) are correct
@  (a), (b) T (c) TR E| (3  (b)and (c) are correct
(4) (a), (b) and (c) are correct
192. ¥t - I 1 et - 11 % 91 fiem
192. Match List - I with List - I1.
- T o List -1 List - 11
(a) e w1 fam @) WT-{EFI (a) [Allen's Rule | (1) |Kangaroo rat
FEITEE Physiological | ... :
) IR G (i) et fsmret (b) sdaptation (ii) |Desert lizard
i% Behavioural |.... :
COCAIECT ] (c) 1 (iii) | Marine fish at depth
y | | TEe adaptation
¥ SN QN o b (@ [Biochemical .15 ) ceal
q SargrEafis _ %T:fl'q adaptation : olat se
@ g tv) gk Choose the correct answer from the options given
T feu 14 foeredl @ 3fera 3w = == #:10 helow:
(@ (b @ @
O W o @ o O w9 0
2 v O @) (i) @ @ O @ G
3 v @) @ @ @ @ @ @
4 @ @ ) 0 @ W @@ @ @
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193. TERIEE feriiea H = S Fn e g ?

(1) Ik~ I
2 e fasr
@ TEER M

@ il 95 FEEdE a
194. T - I 61 g - 11 < o firem 0

Tl - 1 il - 11
@ [wmeitefea |0 |greey sagest
O |suiter |@) | zrzpiwIEET
© [ | | gy Fwwerd
(d) [firrer ) | gzsrlar feeiforlaear

e foredl @ Sfora Sox 1 =@ =30
@ (b)) ©
1 G v @ 0 @
2 O 3G 3G 3
@ @ @y @
@ v @ G @
195. |t - I 1 =it - 11 < &y faem 10|

= - 1 o= - 11
(a) [T G) [swifea 7 Sirg
IERS] (i) [F9el ey
(c) [SUfEe (iii) [t Sg
(d) | ¥+ 55 (v) |Freemer =aet afey
e faeredi ° O sfaa s s == =10

@ (b)) © «@
L @ Gy @ O
@ v @ @ O
@ v Gy @ O
@ @ @ @

196, 9=t - I = geit - 11

& Wy Toer T =11 |

el - 1

et - 11

(a) |3t faferu

1) |& sty 39 4

yfaeht feedi =1 9aq |

(h) |ATart fawmg

Q) | 3 o

T W el o SR |

(c) [Tt fomre

(iii) |fodel ws vaf & d@

HHetg T
@ & g Taa™

(iv) [Sifd &1 TR

=1 Taren 9 e s 1 999+
@ m ©

() ) @ @ (1v)

@ @ @© @ (W)

@ @® v @ @

@ v @ @ @

45

193.

194,

195.

196.

N5

The Adenosine deaminase deficiency results into ;
(1)  Parkinson’s disease

(2)  Digestive disorder

(3) Addison’s disease

(4)  Dysfunction of Immune system

Match List - I with List - IT,

List -1 List - 1T
.. .. |Haemophilus
(a) |Filariasis (1) 5 ——

(b) |Amoebiasis | (i) |Trichophyion
(¢) |[Pneumonia |(iii) | Wuchereria bancrofti

(d) [Ringworm |(iv) |Entamoeba histolytica

Choose the correct answer from the options given
below,
(a) (b) (© ()
1 @ a) @O @
@ @© @ a9 @
@ @ @ @ v
@ @ @© @ @
Match List - I with List - IT.

List -1 List -II
(a)|Scapula (1) |Cartilaginous joints
(b) | Cranium (i1) |Flat bone
(¢} |Sternum (ii1) | Fibrous joints
(d) [Vertebral column|(iv) |Triangular flat bone

Choose the correct answer from the options given
below.
@) (b)) ()
D @ @ ) @
@ @ @ @ @
@ @ @ @ @
@ @ @ @ )
Match List - I with List - IT.

List -1 List - II
Selection of resistant
@) Adaptive @ varieties due to excessive
radiation use of herbicides and
pesticides
®) Convergent (i) Bones of forelimbs in Man
evolution and Whale
© Divergent (iid) 1".F"'.*'Tings of Butterfly and
evolution Bird
Evolution by
(d) |anthropo- (iv) | Darwin Finches
genic action

Choose the correct answer from the options given
below.
(@ ((b) © (@
(H @ @ @© )
@ @ @ GG @
@ @ @) @ @
@ @) @ W O

T
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197.

198,

199,

200,

TS % STd Rt oy § w feifEa gmE
wfaq g ?

(1) dafiE

2) ¥m

(8) YA

) T gk

HAT (A) : 59 U Al Ied Il U e © a9
T T AR & A S W o H
FHiGAE T8 TeF I USHFA 91 AgYH
TG

HIOT (R) :  3=9 Gl R 177 et <@ 3
YT 1 YA SAfedisH el THe 9T |

U A o T § T fashedi ° 9 WE S A
=T |

() <TH (A) T8 (R) 99 § ©fFT (R), (A) =i
3fem =amE @ B

@ (A) 99§ aF (R) 319 €|
3)  (A) 3FA T AfFT (R) TA TN

@ <A (A) T (R) ¥4 8 T (R), (A) =1 =@
AT B

= 1 fR=m & fag ° &0 Fe e § 7

(1) T5=F =1 pH f&fm erei St 81

@ Tewm o wafam @ onfsifa tHiF o TeR
AR

@) To=r = ol SEe § ¥ oTey B B

(4) ?@ﬂ@%ﬂ@mswﬁaﬁ@mm
|

FTereRT Gl i ggeniu i verdf i waw 9 9ret
Trerer & et € ug el wal s1opedi 3 qEa weraRer
A IS HITmal & T Haor wenfud it €
(1) IHHY: T% Gy ud sfaved |iy

2) HHE: ST EiY UE g8 9y

(8) SRS TSI Wi U siarel! Gy

(4)  HHIL A 9 uE S G

-000-

197,

198.

199,

200.

Hindi+English
Which of the following secretes the hormone,
relaxin, during the later phase of pregnancy ?
(1)  Corpus luteum
(2) Foetus
(3)  Uterus
(4)  Graafian follicle

Assertion (A) :

A person goes to high altitude and experiences
‘altitude sickness’ with symptoms like breathing
difficulty and heart palpitations,

Reason (R) :

Due to low atmospheric pressure at high altitude,
the body does not get sufficient oxygen.

In the light of the above statements, choose the
correct answer from the options given below.

(1) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(2)  (A)is true but (R) is false
3)  (A)isfalse but (R) is true

(4)  Both (A) and (R) are true and (R) is the
correct explanation of (A)

Which one of the following statements about
Histones is wrong ?

(1)  The pH of histones 1s slightly acidic.

(2)  Histones are rich in amino acids - Lysine

and Arginine.

(3)  Histones carry positive charge in the side
chain.

(4)  Histones are organized to form a unit of
8 molecules.

Identify the types of cell junctions that help to stop
the leakage of the substances across a tissue and
facilitation of communication with neighbouring
cells via rapid transfer of ions and molecules.

(1) Tight junctions and Gap junctions,
respectively.

(2)  Adhering junctions and Tight junctions,
respectively.

(3)  Adhering junctions and Gap junctions,
respectively.

(4) Gap junctions and Adhering junctions,
respectively.

-o0o0-
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W &1d o fAT SE / Space For Rough Work
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N7 48 Hindi+English
ﬁﬁﬁ@ﬁ% SEJT?#U'%‘ Read carefully the following instructions :
6. T T TN W, T FR/aa set 4@ e | 6. On completion of the test, the candidate must

T ; ot Firf hand over the Answer Sheet (ORIGINAL and
Rl ol : Ll Y OFFICE Copy) to the Invigilator before leaving
N HATI WIS | T 379 | e Eﬁ?ﬂm SE the Room/Hall. The candidates are allowed to take
HFa T away this Test Booklet with them.

7 WWWW%N5 | %Eﬁﬁwaﬂ-ﬁ'ﬁ; 7. The CODE for this Booklet is N5. Make
Wgﬁ?‘lﬂ = dam’ T %WWQTW& sure that the CODE prlntEfd on the Original

: Copy of the Answer Sheet is the same as that
T Fehd H foeren %l SR 77 o o1 el G d on this Test Booklet. In case of discrepancy, the
T Yt 3R S U= o % foau e =i T« candidate should immediately report the matter to
3TETT T | the Inwvigilator for replacement of both the Test

) ) Booklet and the Answer Sheet.

8. e gl LESKANERE Wﬁ‘cﬁﬁ%’[ TIMRTEA | ¢ The candidates should ensure that the Answer
34 WHE 37 9 = o | wdeneff oo s Sheet is not folded. Do not make any stray marks
B anywhere else except in the specified space in the

Test Booklet/Answer Sheet,
: ‘ : 9. se of white fluid for correction is permisgsible

9. TN T W Tl TR % T ¥ TR FTES ® Use of white fluid f NOT bl
TERT T STAfT T R on the Answer Sheet.

~ ~ 10. Each candidate must show on-demand his/her

10. Y ST R S TS, FRiarh 1 7 3w Admit Card to the Invigilator.
feam | 11. No candidate, without special permission of the

11. %% anitges =1 f1deres &1 fod srqafa & fomm =8 centre Superintendent or Invigilator, would leave

. his/her seat.
YT ST T A DS |
' | 12. The candidates should not leave the Examination

12. HEW friw® F1 oo IR 7= ]y fomn v Hall without handing over their Answer Sheet to

IUfEATg-9F T AN BEAER (HHY & o) fru the Invigilator on duty and sign (with time) the
. : Attendance Sheet twice. Cases, where a
o o e ferwt ’

HI T T WA T il e candidate has not signed the Attendance
witget A GH it ST Saftarfa-usre av gearery @& Sheet second time, will be deemed not to
feru <t =g wr=T Stre foF SEe ST ud @ wierar have handed over the Answer Sheet and
aﬁ'mgaﬂ&mmmaﬁrmwml dealt with as an Unfair Means case.

o 13. Use of Electronic/Manual Calculator is prohibited.

1 TS R HSHTeh 35T gl 14, The candidates are governed by all Rules and

14. TUAT-FA/BlA T 37w & Tau udane, wdan &% Regulations of the examination with regard to their
Frgmi ug Frafirg £ ﬂﬁﬁlﬂ e conduct in the Examination Room/Hall. All cases
e t{a?. 3 B i s i i e of unfair means will be dealt with as per the Rules

&l BH AT T and Regulations of this examination.
Sﬂﬂﬁ'{?ﬂ'ﬁ | 15. No part of the Test Booklet and Answer

15. mmﬁﬁww aﬁTEﬂTﬂﬂ‘Wﬂﬁ? Sheet shall be detached under any
— S8 circumstances.

‘ * 16. The candidates will write the Correct Test Booklet

16, W& iR/ STRUA § T80 T w{ien Gt Hehd W Code as given in the Test Booklet/Answer Sheet
'q-agﬂ'[gﬁ H%"]‘ H’fl'?'m" ﬁ mﬂ%{_‘qﬁ ﬁ 1%"@ | in the Attendance Sheet.
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